Fort Bend County Tabulation Bid 23-049

Construction of Brandt Road from Precinct Line Road to Mason Road for Fort Bend County Mobility Bond Project No. 17310

Recommended: Allgood Construction Co., Inc. \$8,914,370.67 Funding: Mobility/Bond Referendum

Company	Bid Price	Completion Time in Calendar Days
Allgood Construction Co., Inc. Richmond, TX	\$8,914,370.67	365
R Construction Civil, LLC Buffalo, TX	\$9,337,637.00	365
James Construction Group, LLC Houston, TX	\$9,549,332.11	270
Conrad Construction Co., LTD Houston, TX	\$10,295,012.20	365
SER Construction Partners, LLC Pasadena, TX	\$10,859,477.10	365



COUNTY PURCHASING AGENT

Fort Bend County, Texas

Vendor Information

Jaime Kovar Purchasing Agent

Office (281-341-8640

1 411 011 11 11 11 11 11 11 11 11 11 11 11					
Legal Company Name (top line of W9)	Allgood Construction	Co., Inc			-
Business Name (if different from legal name)					
Federal ID # or S.S. #	76-0135291	DUNS#			
	× Corporation/LLC	Partr	nership	Age in B	Business?
Type of Business	Sole Proprietor/Individual	Tax I	Exempt Organization	37	
Publicly Traded Business	No Yes Ticker Sy	mbol			
Remittance Address	17	02 Sette	gast Ranch rd		
City/State/Zip	-	Richmond	d TX, 77406		
Physical Address	17	02 Sette	gast Ranch rd		
City/State/Zip	P	Richmon	d TX, 77406		
Phone/Fax Number	Phone: 281-499-9621	Fax: _28	1-261-6565		
Contact Person		Sterlin	ig Moore		
E-mail	biddir	ng@allgoo	dconstruction.com		
Check all that apply to the company listed above and provide certification number.	DBE-Disadvantaged Business Enterpr SBE-Small Business Enterprise HUB-Texas Historically Underutilized WBE-Women's Business Enterprise		Certification # Certification # Certification #	_	Exp Date
_	<\$500,000	\$500,	,000-\$4,999,999	•	•
Company's gross annual	\$5,000,000-\$16,999,999	\$17,0	000,000-\$22,399,999		
receipts	>\$22,400,000 ×			_	-
NAICs codes (Please enter all that apply)					
Signature of		٨			
Authorized		Λ . Λ			
Representative	.,	A Comment			
Printed Name		Sterlir	ng Moore		
Title		Pre	sident		
Date		5/	9/23		

THIS FORM MUST BE SUBMITTED WITH THE SOLICITATION RESPONSE

Contract Sheet Bid 23-049

THE STATE OF TEXAS COUNTY OF FORT BEND

This memorandum of agreement made and entered into or	n the 13 day of June , 20 23,
by and between Fort Bend County in the State of Texas	(hereinafter designated County), acting herein by
County Judge KP George, by virtue of an order of	Fort Bend County Commissioners Court, and
Allgood Construction Co., Inc	_ (hereinafter designated Contractor).
(company name)	
WITNESSETH:	
The Contractor and the County agree that the bid and specifi	cations for the Construction of Brandt Road from
Precinct Line Road to Mason Road for Fort Bend County	Mobility Bond Project No. 17310 which are hereto
attached and made a part hereof, together with this instrument	and the bond (when required) shall constitute the full
agreement and contract between parties and for furnishing the	items set out and described; the County agrees to pay
the prices stipulated in the accepted bid.	
It is further agreed that this contract shall not become binding	g or effective until signed by the parties hereto and a
purchase order authorizing the items desired has been issued.	
Executed at Richmond, Texas this 13th day of	June 20 23 .
	Fort Bend County, Texas
By: Sount Judge Kif Ge	107gl
V	County Judge, KP George
Ву:	Der
	Signature of Contractor
Sterling Moo	re-
υ γ	Printed Name and Title



Department of the Treasury

Request for Taxpayer **Identification Number and Certification**

Give Form to the requester. Do not send to the IRS.

	Name (as shown on your income tax return), Name is required									
	·	on this line; do not leave this line plank,								
	Allgood Construction Co., Inc	<u> </u>								
οÚ	2 Business name/disregarded entity name, if different from above	e								
page										
g.	3 Check appropriate box for federal tax classification; check onli	y one of the following seven boxes:			4 E	emptic	ns (cc	ides app	áy only	y to
5	☐ Individual/sole proprietor or ☐ ☐ G Corporation ☐	S Corporation Partnership	Trust/e	state		ain entit uptions		ot individ ide 3):	icals: :	300
pe gra	single-member LLC				- 1			te (if any)	
Print or type Specific Instructions on	if imited liability company. Fater the fax classification (C=C c	· · · · · · · · · · · · · · · · · · ·				-		ATGA re		
ţţ	Note. For a single-member LLC that is disregarded, do not the tax classification of the single-member owner.	check LLC; check the appropriate box in	the line abo	ve for		e (if any			portin	'st
두드	Other (see instructions) ►				- 1		. —	nteineo auk	side the l	D.S.J
<u>.</u> 5	5 Address (number, street, and apt, or suite no.)		Requester's	. neme						
i G	1702 Settegast Ranch rd							,		
g.	6 City, state, and ZIP code									
See	Ranch rd. Richmond TX 77406									
<i>"</i> '	7 List account number(s) here (optional)									
	r dist account number(s) here (optional)									
										
Par		****								
	rour TIN in the appropriate box. The TIN provided must m o withholding. For individuals, this is generally your social		- L	CHE! S	ecurity	numbe	or			\dashv
	o withholding. For frictividuals, this is geriefally your social alien, sole proprietor, or disregarded entity, see the Par				_	.		_	'	
	s, it is your employer identification number (EIN). If you do			1					-	
TIN on	page 3.		₽r							_
	If the account is in more than one name, see the instruction	ins for line 1 and the chart on page	4 for En	nploy	er ident	ificatio	n Run	iber		
guideii	nes on whose number to enter.		7	6	- 0	1 3	5	2 9		
			ı	0	- 0	1 3) 3	2 9		\perp
Part	II Certification									
Under	penalties of perjury, I certify that:									
1. The	number shown on this form is my correct taxpayer identi	fication number (or I am waiting for	a number t	೧ ರಾಣ	issued	to me); and	ŧ		
2. Tan	n not subject to backup withholding because: (a) I am oxe	mpt from backup withholding, or (b)	1 have not	beer	notifie	ed by t	he In	ternal P	leven	ue
Ser	vice (IRS) that I am subject to backup withholding as a rea	sult of a failure to report all interest of	or dividend	s, or	(c) the	IRS ha	ıs not	ified me	e that	Lam
กด	enger subject to backup withholding; and									
3. Lan	n a U.S. c-tizen or other U.S. person (defined below); and									
4. The	FATCA code(s) entered on this form (if any) indicating that	t Lam exempt from FATCA reporting	g is correct							
Certifi	cation instructions. You must cross out item 2 above it y	ou have been notitied by the IRS th	at vou are	curre	ntiv su	biect t	o bac	kup wii	thhok	dina
becaus	se you have failed to report all interest and dividends on y	our tax return. For real estate transa	actions, iter	ր 2 d	oes no	t apply	y. For	mortga	age	_
	t paid, acquisition or abandonment of secured property, of									
	illy, payments other than interest and dividends, you are rations on page 3.	et required to sign the certification.	out you m	ust p	rovide	your o	orrec	a fina. S	ee th	е
Sign	i									
Here	Signature of U.S. person ►	Do	te ▶ 5/9/	23						
	1 0.00 bereatile									
Gen	eral instructions	 Form 1098 (home more 	rlgago intere	st), 10	98-E (s	tucient i	ican in	doresti, i	1098-1	Γ

Section references are to the internal Revenue Code unless otherwise noted.

Future developments, Information above developments affecting Form W 9 (such as regislation enacted after we release it) is at www.irs.gov/lw9.

Purpose of Form

An individual or entity (Form W-9 requester) who is required to file an information return with the IRS must obtain your correct taxpayer identification number (EN) which may be your social security number (SSN), individual taxpayer identification number (ITIN), adoption taxpayer identification number (ATIN), or employer (centification number (EN)) to report on an information return the amount paid to you, or other amount reportable on an information return. Examples of information returns include, but are not limited to, the following:

- Form 1099-ENT (interest earned or paid)
- Form 1090-DIV (dividends, including those from stocks or mutual funds)
- Form 1099-M:SC (various types of income, prizes, awards, or gross proceeds)
- Form 1099-B (stock or mutual fund sales and certain other transactions by brokers:
- Form 1099-3 (proceeds from real estate transactions)
- Form 1099-K (merchant card and third party network transactions)

- (tuition)
- Form 1099-C (canceled debt)
- Form 1099-A (acquisition or abandonment of secured property)

Use Form W-9 only if you are a U.S. person (including a resident alien), to provide your correct TIN.

If you do not return Form W-9 to the requester with a TIN, you might be subject. to backup withholding. See What is packup withholding? on page 2.

By signing the filled-out form, you:

- 1. Certify that the TIN you are giving is correct (or you are waiting for a number to be issued),
- 2. Certify that you are not subject to backup withholding, or
- 3. Claim exemption from backup withholding it you are a U.S. exempt payee. If applicable, you are asso certifying that as a U.S. person, your affocable share of any partnership income from a U.S. trade or business is not subject to the withholding tax on foreign cartners' share of effectively connected income, and
- 4. Certify that FATCA code(s) entered on this form (if any) indicating that you are exempt from the FATCA reporting, is correct. See What is FATCA reporting? on page 2 for further information.

Job No.: <u>B23-049</u>

TAX FORM/DEBT/ RESIDENCE CERTIFICATION (for Advertised Projects)

Тахра	ayer Ide	ntificatio	n Number (T.I.N.)	76-0135291
Comp	oany Na	ıme subm	itting Bid/Proposa	Algood Construction Co., Inc
Maili	ng Add	ress:	02 Settegast Ranch rd	Richmond TX 77406
Are y	ou regis	stered to o	lo business in the	state of Texas? ✓ Yes No
If you	i are an	individua		d addresses of any partnership of which you are a general partner or any
Ι.	name			rty in Fort Bend County owned by you or above partnerships as well as any d/b/a property as well as mineral interest accounts. (Use a second sheet of paper if
Fort E	Bend Co	ounty Tax	Acct. No.*	Property address or location**
996	80-01-215	-0063-901	_	1702 Settegast Ranch rd, Richmond TX 77406
6615-	-01-001-0	240-901	_	6703 Whitehill Ln Richmond TX 77406
9410-	-06-006-0	220-901	-	33011 Weiney ct, Fulshear TX 77441
ad	dress w zy be sto Fort ticke	there the ored at a s	property is locate warehouse or othe unty Debt - Do y colls, court judgme	ou owe any debts to Fort Bend County (taxes on properties listed in I above,
Пί.	Resis reque	dence Ce	rtification - Purs	ant to Texas Government Code §2252.001 et seq., as amended, Fort Bend County §2252.001 et seq. of the Government Code provides some restrictions on the ets; pertinent provisions of §2252.001 are stated below:
	(3)	"Nonres	ident bidder" refer	to a person who is not a resident.
	(4)		ctor whose ultima	a person whose principal place of business is in this state, including a te parent company or majority owner has its principal place of business in
	√	I certify §2252.0	[Comp	is a Resident Bidder of Texas as defined in Government Code my Name]
				is a Nonresident Bidder as defined in Government Code my Name]
		92232.0	эт ана онг реистр	l place of business is [City and State]
Created	05/12			



Contractor Acknowledgement of Storm Water Management Program

I hereby acknowledge that I am aware of the stormwater management program and standard operating procedures developed by Fort Bend County in compliance with the TPDES General Permit No. TXR040000. I agree to comply with all applicable best management practices and standard operating procedures while conducting my services for Fort Bend County. I agree to conduct all services in a manner that does not introduce illicit discharges of pollutants to streets, stormwater inlets, drainage ditches or any portion of the drainage system. The following materials and/or pollutant sources must not be discharged to the drainage system as a result of any services provided:

- 1. Grass clippings, leaves, mulch, rocks, sand, dirt or other waste materials resulting from landscaping activities, (except those materials resulting from ditch mowing or maintenance activities)
- 2. Herbicides, pesticides and/or fertilizers, (except those intended for aquatic use)
- 3. Detergents, fuels, solvents, oils and/or lubricants, other equipment and/or vehicle fluids,
- 4. Other hazardous materials including paints, thinners, chemicals or related waste materials,
- 5. Uncontrolled dewatering discharges, equipment and/or vehicle wash waters,
- 6. Sanitary waste, trash, debris, or other waste products
- 7. Wastewater from wet saw machinery,
- 8. Other pollutants that degrade water quality or pose a threat to human health or the environment.



UTILITY & PAVING CONTRACTOR

1702 SETTEGAST RANCH ROAD, RICHMOND, TX 77406 (281) 499-9621 TELEPHONE * (281) 261-5565 FAX

References

Gary Goessler
Brown and Gay Engineering
10777 Westheimer Rd.
Ste. 400
Houston, TX 77042
281-488-8220
ggoessley@bge.com

David Linedecker Clay & Linedecker 1350 Avc. D. Katy, TX 77493 281-391-0173

Guy Humphries
Costello Engineering
990 Richmond Ave.
Ste. 450 North Building
Houston, TX 77042
713-783-7788
ghumphrey@costelloinc.com

Julia Bond
'Harris County
1001 Preston 7th Floor
Houston, TX 77002
713-274-1564
julia.bond@hepid.org

Wesley Crawford
Fort Bend County
301 Jackson street
Suite 201
Richmond, TX 77406
281-633-7514
wesley.crawford@fortbendcountytx.gov

A. SITE PREPARATION AND EARTHWORK ITEMS

ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT MEASURE	UNIT QUANTITY	UNIT PRICE	TOTAL IN FIGURES
1	102	Clearing and Grubbing	STA	50.00	\$5,275.00	\$263,750.00
2	102	Clearing and Grubbing - Jones Creek	AC	5.27	\$10,200.00	\$53,733.60
3	104	Removing Concrete Payment	SY	596.00	\$12.00	\$7,152.00
4	110	Roadway Excavation	CY	6,271.00	\$9.00	\$56,439.00
5	130	Borrow	CY	36,203.00	\$17.40	\$629,932.20
6	465	Remove and Dispose of Existing Concrete or Metal Pipe (All Sizes)	LF	330.00	\$12.00	\$3,960.00
7	500	Remove & Relocate Traffic Signs, Mail Boxes and Roadway Signs	LS	1.00	\$3,000.00	\$3,000.00
8	540	Removing and Disposing of Existing Asphaltic Surface and Base	SY	7,430.00	\$3.00	\$22,290.00
9	671	Fort Bend Project Sign	EA	1.00	\$1,038.00	\$1,038.00
SUBT	OTAL SITE PE	REPARATION AND EARTHWORK ITEMS				\$1,041,294.80

B. PAVING ITEMS

NO.	SPEC NO.	ITEM DESCRIPTION	UNIT MEASURE	UNIT QUANTITY	UNIT PRICE	TOTAL IN FIGURES
10	220	Lime Stabilized Subgrade (8" Depth)	SY	27,200.00	\$3.90	\$106,080.00
11	221	Type A, Hydrated Lime (Estimated at 6% by dry weight)	TON	590.00	\$364.80	\$215,232.00
12	340	HMAC Base Course (8")(Black Base)	TON	441.00	\$180.00	\$79,380.00
13	340	Hot Mix-Hot Laid Asphaltic Concrete Surface Course (2")	TON	110.00	\$192.00	\$21,120.00
14	360	Reinforce Concrete Pavement (8")	SY	23,374.00	\$72.10	\$1,685,265.40
15	433	Cement Stabilized Sand Bendding and Backfill Material	CY	40.00	\$62.76	\$2,510.40
16	516	Metal Beam Guard Fence (Tim Post)	LF	1,663.00	\$51.60	\$85,810.80
17	530	Reinforce Concrete Driveway	SY	510.00	\$90.00	\$45,900.00
18	530	5-Foot Concrete Sidewalk	SY	62.00	\$59.40	\$3,682.80
19	530	6-Foot Concrete Crosswalk	SY	64.00	\$71.40	\$4,569.60
20	530	6" Concrete Curb	LF	13,075.00	\$5.10	\$66,682.50
21	535	Concrete Median Noses	SY	26.00	\$84.00	\$2,184.00
22	536	Coloring Concrete Median Nose (Black)	SY	26.00	\$12.00	\$312.00
23	530	Wheel Chair Ramp Type 7	EA	18.00	\$1,500.00	\$27,000.00
24	TXDOT 0514-6013	Concrete Safety Barrier (F-Shape) (Type I)	LF	60.00	\$96.00	\$5,760.00
25	TXDOT 0540-6001	Single Guardrail Terminal (Terminal Anchor Section)	EA	8.00	\$3,900.00	\$31,200.00
SUBT	OTAL PAVING	SITEMS				\$2,382,689.50

C. BRIDGE AND RETAINING WALL ITEMS

NO.	SPEC NO.	ITEM DESCRIPTION	UNIT MEASURE	UNIT QUANTITY	UNIT PRICE	TOTAL IN FIGURES
26	TXDOT 0400-6005	Cement Stabilized Backfill	CY	109.00	\$81.00	\$8,829.00
27	TXDOT 0416-6001	Drill Shaft (18 IN)	LF	120.00	\$178.20	\$21,384.00
28	TXDOT 0416-6004	Drill Shaft (36 IN)	LF	1,040.00	\$523.80	\$544,752.00
29	TXDOT 0420-6013	CL C Conc (ABUT)	CY	52.20	\$2,160.00	\$112,752.00
30	TXDOT 0420-6029	CL C Conc (CAP)	CY	38.40	\$1,944.00	\$74,649.60
31	TXDOT 0420-6037	CL C Conc (COLUMN)	CY	31.40	\$1,728.00	\$54,259.20



32	TXDOT 0422-6001	Re-nf Conc Slab	SF	7,215 00	\$37 80	\$272,727 .00
33	TXDOT 0422-6013	Bridge Sidewalk	SF	2,541.00	\$16.20	\$ 41,1 6 4.20
34	TXDOT 0422-6015	Approach Slab	CY	82.90	\$972.00	\$80,578.80
35	TXDOT 0425-6035	Prestr Conc Girder (TX28)	LF	967.10	\$237.60	\$229,782.96
36	TXDOT 0442-6007	Str Steel (Misc Non-Bridge)	LB	145.00	\$32.40	\$4 ,698.00
37	TXDOT 0450-6004	Rail (TY T221)	L.F	254.10	\$157.68	\$40,066.49
38	TXDOT 0450-6030	Rail (TY C22 ⁴)	<u>LF</u>	223.00	\$210.60	\$46,96 3.80
39	TXDOT 0450-6103	Rail (TY PR11)	<u>LF</u>	223.00	\$1 69.58	\$37,811.88
4 C	TXDOT 0454-6001	Sealed Expansion Joint (4 IN) (SEJ - A)	LF	65.00	\$270.00	\$17,550.00
41	TXDOT 0420-6011	CL B Conc (Flume)	CY	65.00	\$756.00	\$49,140.00
42	TXDOT 0423-6001	Retaining Walf (MSE)	SF	2,325.00	\$129.60	\$301,320.00
43	TXDOT 0432-6008	Riprap (Conc)(CL B)(RR8&RR9)(5")	CY	175.00	\$756.00	\$132,300.00
44	TXDOT 0556-6006	Pipe Underdrain (TY 6) (6")	LF	278.00	\$59.40	\$16,513.20
45	1XDOT 0544-6001	Guardrail End Treatment (Install)	EA	4.00	\$2,940.00	\$11.760 <u>.90</u>
SUBT	OTAL BRIDGI	E AND RETAINING WALL ITEMS				\$2, 099,0 <u>02.13</u>

D. STORM SEWER ITEMS

ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT MEASURE	UNIT QUANTITY	UNIT PRICE	TOTAL IN FIGURES
46_	429	Trench Safety System (5' to 10')	LF	7,739.00	\$1.20	\$9,286.80
47	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (18")	LF	269.00	\$67.55	\$18,170.95
48	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gaskot (24")	LF	3,141.00	\$97.80	\$307,189.80
49	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (30")	LF	407.00	\$124.67	\$5 0,7 4 0.69
50	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (36")	LF	1,680.00	\$171.35	\$287,868.00
51	460	Reinforced Concrete Pipo, C76, Class III, Rubber Gasket (48")	LF	1,617.00	\$291.23	\$470,918.91
52	471	Precast Concrete Standard Manhole (5 ft ≤ Depth ≤ 10 ft)	EA	18.00	\$10,230.00	\$184,14 0.00
53	471	Junction box (8'x5')	EA	1.00	\$12,960.00	\$12,960.00
54	472	Type A Inlet	EA	32.90	\$4,020.00	\$12 <u>8,640.00</u>
55	472	Type A-Mod inlet	EA	3.00	\$6,000.00	\$18,000.00
56	472	Type C Inlet	EA	19.00	\$4,200.00	\$79 <u>,</u> 800.00
57	472	Type C-Mod Inlet	EA	3.00	\$6,000.00	\$18,000.00
58	480	5'x4' RCBC	LF	220.00	\$590.75	\$129,965.00
59	480	6'x3' RCBC	LF	146.00	\$651.12	\$9 <u>5,063.52</u>
60	480	6'x4' RCBC	LF	52.00	\$704.94	\$36,656.88
61	480	10'x8' RCBC	LF	207.00	\$1,601.59	\$331,529.13
62	TxDOT 0420-6133	CL A CONC (CHANNEL LINING)	CY	32.00	\$900.00	\$28,890.00
63	TxDOT 0466-6018	Conc I teadwalls w/flared wings 15 Deg skew pipe cuivert (CH-FW-15) (DIA=18 IN)	EA	1.00	\$8,880.00	\$8,880,00

64	TxDOT 0466-6151	Conc Headwalls w/flared wings box culverts (FW-0) (6'X3' RCB) (Hw=4)	EA	1.00	\$11,520.00	\$11,520.00
65	TxDOT 0466-6170	Conc Headwalls w/flared wings for skewed box culverts (FW-S) (10'X8' RCB)(Hw=9)	EA	1.00	\$66,240.00	\$66,240.00
66	TxDOT 0466-6179	Conc Headwalls w/parllel wings box culverts (PW-1) (6'X3' RCB) (Hw=4)	EA	1.00	\$15,480.00	\$15,480.00
67	TxDOT 0466-6198	Conc Headwalls w/Parallel wings box culverts (PW-2) (10'X8' RCB) (Hw=9)	EA	1.00	\$71,400.00	\$71,400.00
68	TxDOT 0466-6208	Conc Headwalls w/straight wings box culverts (SW-0) (6'X4' RCB) (Hw=5)	EA	2.00	\$8,040.00	\$16,080.00
69	TXDOT 0467-6363	safety End Treatment (TY II) (18 in) (RCP) (6:1) (P)	EA	4.00	\$1,200.00	\$4,800.00
70	TXDOT 0467-6389	safety End Treatment (TY II) (24 in) (RCP) (3:1) (P)	EA	2.00	\$1,800.00	\$3,600.00
71	TXDOT 0467-6395	safety End Treatment (TY II) (24 in) (RCP) (6:1) (P)	EA	4.00	\$2,160.00	\$8,640.00
72	TXDOT 0467-6449	safety End Treatment (TY II) (36 in) (RCP) (3:1) (P)	EA	13.00	\$6,600.00	\$85,800.00
SUBT	OTAL STORM	M SEWER ITEMS				\$2,500,169.68

E. EROSION PROTECTION ITEMS

ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT MEASURE	UNIT QUANTITY	UNIT PRICE	TOTAL IN FIGURES
73	HCFCD 03310	Reinforced Concrete Slope Paving (5")	SY	480.00	\$108.00	\$51,840.00
74	HCFCD 02378	Riprap (Gradation No. 2) (18")	SY	980.00	\$96.00	\$94,080.00
SUBT	OTAL EROSIO	ON PROTECTION LITEMS				\$145,920.00

F. TRAFFIC CONTROL PLAN

ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT MEASURE	UNIT QUANTITY	UNIT PRICE	TOTAL IN FIGURES
75		Work Zone Pavement Markings 4" White/Solid (Removable) Furnished -Applied & Removed	LF	1,600.00	\$0.96	\$1,536.00
76	665	Work Zone Pavement Markings 4" Yellow/Solid (Removable) Furnished-Applied & Removed	LF	1,600.00	\$1.02	\$1,632.00
77	671	Traffic Control - Barricades, Barriers, Barrels, Cones, and Signing	МО	7.00	\$2,100.00	\$14,700.00
78	671	Temporary Residential Driveways - Furnish-Install & Remove	EA	10.00	\$1,800.00	\$18,000.00
79	673	Temporary Asphalt Paving	SY	430.00	\$90.00	\$38,700.00
SUBT	OTAL TRAFFI	C CONTROL PLAN				\$74,568.00

G. SIGNING AND PAVEMENT MARKINGS ITEMS

TEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT MEASURE	UNIT QUANTITY	UNIT PRICE	TOTAL IN FIGURES
80	624	Aluminum Signs (Ground Mounted)- Furnish & Install	EA	76.00	\$714.00	\$54,264.00
81	660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied	EA	162.00	\$27.00	\$4,374.00
82	660	Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied	LF	435.00	\$7.56	\$3,288.60
83	660	Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied	LF	10,168.00	\$0.60	\$6,100.80
84	660	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	LF	337.00	\$2.40	\$808.80

UBTO	TAL SIGN	ING AND PAVEMENT MARKINGS ITEMS				\$82,630.56
93	663	Reflectorized Pavement Markings Type(II-A-A) 4" 2-Way Yellow - Furnish & Applied	EA	898.00	\$5.28	\$4,741.4
92	663	Reflectorized Pavement Markings Type(I-C) 4" 1-Way White - Furnish & Applied	EA	54.00	\$5.28	\$285.1
91	660	Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-RIGHT - Furnish & Applied	EA	2.00	\$192.00	\$384.00
90	660	Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-LEFT - Furnish & Applied	EA	6.00	\$192.00	\$1,152.00
89	660	Reflectorized Pavement Markings Type I (Thermoplastic) (W) Word "ONLY" - Furnish & Applied	EA	2.00	\$240.00	\$480.00
88	660	Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doble/Solid - Furnish & Applied	LF	1,050.00	\$1.02	\$1,071.00
87	660	Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied	LF	1,530.00	\$0.66	\$1,009.80
86	660	Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied	LF	300.00	\$3.60	\$1,080.00
85	660	Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied	LF	475.00	\$7.56	\$3,591.00

H. TRAFFIC SIGNAL ITEMS

TEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT MEASURE	UNIT QUANTITY	UNIT PRICE	TOTAL IN FIGURES
94	TXDOT 0416-6030	DRILL SHAFT (TRF SIG POLE) (24 IN) (POLE 1)	LF	5.70	\$330.00	\$1,881.00
95	TXDOT 0416-6032	DRILL SHAFT (TRF SIG POLE) (36 IN) (POLE 3 & 4)	LF	28.40	\$420.00	\$11,928.00
96	TXDOT 0416-6034	DRILL SHAFT (TRF SIG POLE) (48 IN) (POLE 2)	LF	21.90	\$522.00	\$11,431.80
97	TXDOT 0618-6023	CONDT (PVC) (SCH 40) (2")	LF	175.00	\$14.22	\$2,488.50
98	TXDOT 0618-6024	CONDT (PVC) (SCH 40) (2") (BORE)	LF	175.00	\$18.00	\$3,150.00
99	TXDOT 0618-6029	CONDT (PVC) (SCH 40) (3")	LF	100.00	\$21.60	\$2,160.00
100	TXDOT 0618-6030	CONDT (PVC) (SCH 40) (3") (BORE)	LF	275.00	\$26.40	\$7,260.00
101	TXDOT 0618-6033	CONDT (PVC) (SCH 40) (4")	LF	200.00	\$31.20	\$6,240.00
102	TXDOT 0618-6034	CONDT (PVC) (SCH 40) (4") (BORE)	LF	100.00	\$34.80	\$3,480.00
103	TXDOT 0620-6002	2/C #14 (STRANDED) (MSA 20-1)	LF	350.00	\$1.80	\$630.00
104	TXDOT 0620-6002	4/C #14 (STRANDED) (MSA 20-1)	LF	350.00	\$2.58	\$903.00
105	TXDOT 0620-6002	7/C #14 (STRANDED) (MSA 20-1)	LF	1,350.00	\$3.18	\$4,293.00
106	TXDOT 0620-6007	1/C #8 BARE	LF	450.00	\$2.10	\$945.0
107	TXDOT 0620-6012	1/C #4 XHHW INSULATED	LF	75.00	\$3.60	\$270.0
108	TXDOT 0621-6005	4/C #12 AWG (TRAY CABLE)	LF	300.00	\$3.54	\$1,062.0
109	TXDOT 0624-6010	GROUND BOX TY D (162922)W/APRON	EA	3.00	\$1,710.00	\$5,130.0

110	TXDOT 0624-6021	GROUND BOX TY 2 (243636)W/APRON	EA	1.00	\$5,520.00	\$5,520.
111	TXDOT 0628-6189	ELC SRV TY D 120/240 070(NS)SS(E)SP(U)	EA	1.00	\$8,220.00	\$8,220
112	TXDOT 0680-6003	INSTALL HWY TRF SIG (SYSTEM)	EA	1.00	\$49,920.00	\$49,920
	*	CONTROLLER, FULL-ACTUATED W/CABINET	EA	1.00	\$0.00	
	*	STREEET NAME SIGN, "Brandt Rd" (50" X 18")	EA	2.00	\$0.00	
	*	STREEET NAME SIGN, "Mason Rd" (44" X 18")	EA	1.00	\$0.00	Ŧ .
	*	SIGN, "LEFT TURN YIELD ON FLASHING YELLOW ARROW" (R10-17T) (30"X30")	EA	1.00	\$0.00	
	*	POWER SUPPLY	EA	1.00	\$0.00	
	*	ARM, 8' LUMINARE	EA	2.00	\$0.00	
	*	LED RDWY LUMINAIRE (.25KW EQ)	EA	2.00	\$0.00	
	*	TRAFFIC SIGNAL CONTROLLER FOUNDATION	EA	1.00	\$0.00	
	*	ROD, 5/8" X 10' COPPER GROUND (CONTROLLER ONLY)	EA	1.00	\$0.00	
	*	CONTROL, PHOTOELECTRIC	EA	1.00	\$0.00	
	*	UNITERRUPTIBLE POWER SUPPLY	EA	1.00	\$0.00	
113	TXDOT 0682-6001	VEH SIG SEC (12")LED(GRN)	EA	6.00	\$360.00	\$2,160
114	TXDOT 0682-6002	VEH SIG SEC (12")LED(GRN ARW)	EA	1.00	\$360.00	\$360
115	TXDOT 0682-6003	VEH SIG SEC (12")LED(YEL)	EA	6.00	\$360.00	\$2,16
116	TXDOT 0682-6004	VEH SIG SEC (12")LED(YEL ARW)	EA	2.00	\$360.00	\$72
117	TXDOT 0682-6005	VEH SIG SEC (12")LED(RED)	EA	6.00	\$360.00	\$2,16
118	TXDOT 0682-6006	VEH SIG SEC (12")LED(RED ARW)	EA	1.00	\$360.00	\$36
119	TXDOT 0682-6018	PED SIG SEC (LED)(COUNTDOWN)	EA	2.00	\$870.00	\$1,74
120	TXDOT 0682-6054	BACKPLATE W/REF BRDR(3 SEC)(VENT)ALUM	EA	6.00	\$222.00	\$1,33
121	TXDOT 0682-6055	BACKPLATE W/REF BRDR(4 SEC)(VENT)ALUM	EA	1.00	\$252.00	\$25
122	TXDOT 0686-6034	INS TRF SIG PL AM(S)1 ARM(32')ILSN	EA	1.00	\$18,120.00	\$18,12
123	TXDOT 0686-6048	INS TRF SIG PL AM(S)1 ARM(44')LUM&ILSN	EA	1.00	\$22,080.00	\$22,08
124	TXDOT 0686-6060	INS TRF SIG PL AM(S)1 ARM(55')LUM&ILSN	EA	1.00	\$40,200.00	\$40,20
125	TXDOT 0687-6001	PED POLE ASSEMBLY	EA	1.00	\$2,130.00	\$2,13
126	TXDOT 0687-6002	PEDESTRIAN PUSH BUTTON POLE	EA	2.00	\$852.00	\$1,70
127	TXDOT 0688-6003	PED DETECTOR CONTROLLER UNIT	EA	1.00	\$5,118.00	\$5,11
128	TXDOT 0690-6040	INSTALL OF CONTROL CABINET(GRND MNT)	EA	1.00	\$930.00	\$93
129	TXDOT 0690-6137	VIVDS CABLE (INSTALL)	LF	550.00	\$1.38	\$75
130	TXDOT 0690-6138	VIVDS CAMERA (INSTALL)	EA	3.00	\$600.00	\$1,80

I. STORM WATER POLLUTION PREVENTION PLAN ITEMS

TEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT MEASURE	UNIT QUANTITY	UNIT PRICE	TOTAL IN FIGURES
131	162	Sodding for Erosion Control (Various Widths)	SY	2,906.00	\$5.70	\$16,564.20
132	165	Hydro-Mulch Seeding	AC	12.74	\$3,120.00	\$39,748.80
133	713	Reinforced Filter Fabric Barrier (60% of unit cost for furnish and installation and 40% of unit cost for removal)	LF	2,805.00	\$2.10	\$5,890.50
134	719	Inlet Protection Barrier (Stage 1, With Fiber Rolls; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	EA	28.00	\$90.00	\$2,520.00
135	724	Stabilized Construction Access (Type 1-Rock; 60% of unit cost for furnish and installation, and 40% of unit cost for removal))	SY	288.00	\$14.40	\$4,147.20
136	730	Concrete Truck Washout Structures (60% of unit cost for furnish and installation, and 40% of unit cost for removal)	EA	2.00	\$960.00	\$1,920.00
137	741	Inlet Protection Barrier (For Stage II Inlets, Gravel Bags; 60% of unit cost for furnish and installation, and 40% of unit cost removal)	EA	22.00	\$54.00	\$1,188.00
138	750	Rock Filter Dam (Type 1; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	LF	480.00	\$90.00	\$43,200.00
139	751	SWPPP Inspection and Maintenance	MO	8.00	\$7,200.00	\$57,600.00
SUBT	OTAL STORM	WATER POLLUTION PREVENTION PLAN ITEMS				\$172,778.70

J. EXTRA WORK ITEMS

TOTAL BASE BID PRICE (ITEM A - ITEM J)

NO.	SPEC NO.	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL IN FIGURES
140	360	Concrete Pavement (8") (High Strength)	SY	120.00	\$84.00	\$10,080.00
141	559	Construction Safety Fence	LF	640.00	\$1.50	\$960.00
142	672	Off-Duty Uniformed Peace Office - As Directed by Engineer	HR	320.00	\$534.00	\$170,880.00
143	TxDOT 400	Well Point System(s), When Approved by Engineer, Complete in Place	LF	2,000.00	\$1.20	\$2,400.00
SUBT	OTAL EXTRA	WORK ITEMS				\$184,320.00

^{*} NOT A BID ITEM. FOR CONTRACTOR'S INFORMATION ONLY.

		<u>, </u>		,	Allgood Constru		R Constructi		James Construc		Conrad Constru		SER Construction	
Item	Spec.	Item	Unit	Unit	Unit	Total in								
No.	No.	Description	Measure	Quantity	Price	Figures								
Cita Danasantina														
. Site Preparation	102	Clearing and Grubbing	STA	50.00	\$5,275.00	\$263,750.00	\$3.000.00	\$150,000.00	\$5,460,00	\$273.000.00	\$10.000.00	\$500,000.00	\$26,600.00	\$1.330.000.0
2	102	Clearing and Grubbing Clearing and Grubbing - Jones Creek	AC	5.27	\$10,200,00	\$53,733.60	\$10.000.00	\$52,680.00	\$15.000.00	\$79.020.00	\$15,000.00	\$79,020.00	\$25,400.00	\$133.807.2
3	104	Removing Concrete Payment	SY	596.00	\$12.00	\$7,152.00	\$20.00	\$11,920.00	\$17.13	\$10,209.48	\$16.00	\$9,536.00	\$12.40	\$7,390.4
4	110	Roadway Excavation	CY	6.271.00	\$9.00	\$56,439.00	\$20.00	\$125,420.00	\$12.11	\$75,941.81	\$16.00	\$100,336.00	\$11.90	\$74,624.9
5	130	Borrow	CY	36,203.00	\$17.40	\$629,932.20	\$22.00	\$796,466.00	\$24.59	\$890,231.77	\$25.00	\$905,075.00	\$27.30	\$988,341.9
	150	Remove and Dispose of Existing Concrete or Metal Pipe (All	С.	30,203.00	\$27.10	Q023,302.20	Ç22.00	\$750,100.00	Ų2 1.33	\$030,E31.77	Ų25.00	<i>\$303,073.00</i>	\$27.50	ψ300,5 12.5
6	465	Sizes)	LF	330.00	\$12.00	\$3,960.00	\$35.00	\$11,550.00	\$40.72	\$13,437.60	\$20.00	\$6,600.00	\$29.50	\$9,735.0
-					7	40,000.00	700.00	7-2,000.00	7.0	7-07.01.00	7-0.00	70,000.00	7-0:00	40).00
7	500	Remove & Relocate Traffic Signs, Mail Boxes and Roadway Signs	LS	1.00	\$3,000,00	\$3,000.00	\$5,000.00	\$5,000,00	\$500.00	\$500.00	\$5,000,00	\$5.000.00	\$2.850.00	\$2.850.0
		8/			70,000	10,000.00	70/00000	70,000.00	7	7	70,000.00	70/00000	+ - /	7-/
8	540	Removing and Disposing of Existing Asphaltic Surface and Base	SY	7,430.00	\$3.00	\$22,290.00	\$10.00	\$74,300.00	\$2.63	\$19,540.90	\$9.00	\$66,870.00	\$8.40	\$62,412.0
9	671	Fort Bend Project Sign	EA	1.00	\$1,038.00	\$1,038.00	\$1,000.00	\$1,000.00	\$865.00	\$865.00	\$1,800.00	\$1,800.00	\$1,710.00	\$1,710.0
JBTOTAL SITE PR	REPARATION AN	ND EARTHWORK ITEMS				\$1,041,294.80		\$1,228,336.00		\$1,362,746.56		\$1,674,237.00		\$2,610,871.
Paving Items														
10	220	Lime Stabilized Subgrade (8" Depth)	SY	27,200,00	\$3.90	\$106,080,00	\$4.00	\$108.800.00	\$6.14	\$167.008.00	\$5.00	\$136,000,00	\$4.80	\$130,560.
11	221	Type A, Hydrated Lime (Estimated at 6% by dry weight)	TON	590.00	\$364.80	\$215,232.00	\$325.00	\$191,750.00	\$438.12	\$258,490.80	\$315.00	\$185,850.00	\$390.00	\$230,100.
12	340	HMAC Base Course (8")(Black Base)	TON	441.00	\$180.00	\$79,380.00	\$170.00	\$74,970.00	\$269.61	\$118,898.01	\$175.00	\$77,175.00	\$133.00	\$58,653.
13	340	Hot Mix-Hot Laid Asphaltic Concrete Surface Course (2")	TON	110.00	\$192.00	\$21,120.00	\$225.00	\$24,750.00	\$438.12	\$48,193.20	\$260.00	\$28,600.00	\$157.00	\$17,270.
14	360	Reinforce Concrete Pavement (8")	SY	23,374.00	\$72.10	\$1,685,265.40	\$71.00	\$1,659,554.00	\$69.07	\$1,614,442.18	\$74.30	\$1,736,688.20	\$69.00	\$1,612,806.
15	433	Cement Stabilized Sand Bendding and Backfill Material	CY	40.00	\$62.76	\$2,510.40	\$100.00	\$4,000.00	\$131.50	\$5,260.00	\$85.00	\$3,400.00	\$65.00	\$2,600.0
16	516	Metal Beam Guard Fence (Tim Post)	LF	1,663.00	\$51.60	\$85,810.80	\$40.00	\$66,520.00	\$32.00	\$53,216.00	\$38.00	\$63,194.00	\$40.00	\$66,520.0
17	530	Reinforce Concrete Driveway	SY	510.00	\$90.00	\$45,900.00	\$115.00	\$58,650.00	\$117.29	\$59,817.90	\$89.00	\$45,390.00	\$133.00	\$67,830.0
18	530	5-Foot Concrete Sidewalk	SY	62.00	\$59.40	\$3,682.80	\$100.00	\$6,200.00	\$134.60	\$8,345.20	\$85.00	\$5,270.00	\$67.00	\$4,154.0
19	530	6-Foot Concrete Crosswalk	SY	64.00	\$71.40	\$4,569.60	\$115.00	\$7,360.00	\$132.36	\$8,471.04	\$175.00	\$11,200.00	\$67.00	\$4,288.0
20	530	6" Concrete Curb	LF	13,075.00	\$5.10	\$66,682.50	\$4.00	\$52,300.00	\$5.97	\$78,057.75	\$5.00	\$65,375.00	\$4.10	\$53,607.5
21	535	Concrete Median Noses	SY	26.00	\$84.00	\$2,184.00	\$100.00	\$2,600.00	\$207.26	\$5,388.76	\$85.00	\$2,210.00	\$78.30	\$2,035.8
22	536	Coloring Concrete Median Nose (Black)	SY	26.00	\$12.00	\$312.00	\$20.00	\$520.00	\$5.29	\$137.54	\$5.00	\$130.00	\$5.70	\$148.2
23	530	Wheel Chair Ramp Type 7	EA	18.00	\$1,500.00	\$27,000.00	\$2,500.00	\$45,000.00	\$2,499.13	\$44,984.34	\$2,000.00	\$36,000.00	\$1,900.00	\$34,200.
	TXDOT 0514	4-												
24	6013	Concrete Safety Barrier (F-Shape) (Type I)	LF	60.00	\$96.00	\$5,760.00	\$160.00	\$9,600.00	\$101.76	\$6,105.60	\$200.00	\$12,000.00	\$107.00	\$6,420.
	TXDOT													
25	0540-6001	Single Guardrail Terminal (Terminal Anchor Section)	EA	8.00	\$3,900.00	\$31,200.00	\$3,500.00	\$28,000.00	\$3,340.00	\$26,720.00	\$3,750.00	\$30,000.00	\$3,400.00	\$27,200.0
JBTOTAL PAVING	G ITEMS					\$2,382,689.50		\$2,340,574.00		\$2,503,536.32		\$2,438,482.20		\$2,318,392.
. Bridge and Reta		ns												
	TXDOT				4									
26	0400-6005 TXDOT	Cement Stabilized Backfill	CY	109.00	\$81.00	\$8,829.00	\$80.00	\$8,720.00	\$132.83	\$14,478.47	\$85.00	\$9,265.00	\$65.00	\$7,085.0
27	0416-6001	Drill Shaft (18 IN)	LF	120.00	¢170.20	\$21.384.00	\$225.00	\$27,000.00	\$83.33	\$9.999.60	Ć10F 00	\$22,200,00	\$91.00	\$10.920.0
21	TXDOT	Drill Shalt (18 IN)	LF	120.00	\$178.20	\$21,384.00	\$225.00	\$27,000.00	\$83.33	\$9,999.00	\$185.00	\$22,200.00	\$91.00	\$10,920.0
28	0416-6004	Drill Shaft (36 IN)	LF	1,040.00	\$523.80	\$544,752.00	\$390.00	\$405,600.00	\$298.99	\$310,949.60	\$550.00	\$572,000.00	\$309.00	\$321,360.0
28	TXDOT	Drill Shalt (30 liv)	LF	1,040.00	\$523.80	\$544,752.00	\$390.00	\$405,600.00	\$298.99	\$310,949.60	\$550.00	\$572,000.00	\$309.00	\$321,360.0
		CL C Conc (ABUT)	CY	52.20	\$2,160.00	\$112,752.00	\$2,800.00	\$146,160.00	\$1,543.46	\$80,568.61	\$2,250.00	\$117,450.00	\$1,490.00	\$77,778.0
20	0420 6012		LT	52.20	\$2,100.00	\$112,/52.00	\$2,800.00	\$140,100.00	\$1,543.46	\$80,508.61	\$2,250.00	\$117,450.00	\$1,490.00	\$//,//8.0
29	0420-6013 TXDOT	CE C CORC (ABOT)												
	TXDOT	, ,	CV	20 40	\$1 044 00	\$74.640.60	\$1.700.00	\$65,290,00	¢1 712 FN	\$65 QO1 QC	\$2,000,00	\$76 900 00	\$1.490.00	CEE 633 1
29 30	TXDOT 0420-6029	CL C Conc (CAP)	СУ	38.40	\$1,944.00	\$74,649.60	\$1,700.00	\$65,280.00	\$1,713.59	\$65,801.86	\$2,000.00	\$76,800.00	\$1,480.00	\$56,832.0
30	TXDOT 0420-6029 TXDOT	CL C Conc (CAP)						-						
	TXDOT 0420-6029 TXDOT 0420-6037	, ,	CY	38.40 31.40	\$1,944.00 \$1,728.00	\$74,649.60 \$54,259.20	\$1,700.00 \$2,500.00	\$65,280.00 \$78,500.00	\$1,713.59 \$1,311.10	\$65,801.86 \$41,168.54	\$2,000.00 \$1,800.00	\$76,800.00 \$56,520.00	\$1,480.00 \$1,310.00	
30	TXDOT 0420-6029 TXDOT 0420-6037 TXDOT	CL C Conc (CAP) CL C Conc (COLUMN)	СУ	31.40	\$1,728.00	\$54,259.20	\$2,500.00	\$78,500.00	\$1,311.10	\$41,168.54	\$1,800.00	\$56,520.00	\$1,310.00	\$41,134.
30	TXDOT 0420-6029 TXDOT 0420-6037 TXDOT 0422-6001	CL C Conc (CAP)						-						\$41,134.
30 31 32	TXDOT 0420-6029 TXDOT 0420-6037 TXDOT 0422-6001 TXDOT	CL C Conc (CAP) CL C Conc (COLUMN) Reinf Conc Slab	CY SF	31.40 7,215.00	\$1,728.00 \$37.80	\$54,259.20 \$272,727.00	\$2,500.00	\$78,500.00 \$216,450.00	\$1,311.10 \$25.94	\$41,168.54 \$187,157.10	\$1,800.00 \$38.00	\$56,520.00 \$274,170.00	\$1,310.00 \$32.90	\$41,134. \$237,373.
30	TXDOT 0420-6029 TXDOT 0420-6037 TXDOT 0422-6001 TXDOT 0422-6013	CL C Conc (CAP) CL C Conc (COLUMN)	СУ	31.40	\$1,728.00	\$54,259.20	\$2,500.00	\$78,500.00	\$1,311.10	\$41,168.54	\$1,800.00	\$56,520.00	\$1,310.00	\$41,134. \$237,373.
30 31 32 33	TXDOT 0420-6029 TXDOT 0420-6037 TXDOT 0422-6001 TXDOT 0422-6013 TXDOT	CL C Conc (CAP) CL C Conc (COLUMN) Reinf Conc Slab Bridge Sidewalk	CY SF SF	31.40 7,215.00 2,541.00	\$1,728.00 \$37.80 \$16.20	\$54,259.20 \$272,727.00 \$41,164.20	\$2,500.00 \$30.00 \$11.00	\$78,500.00 \$216,450.00 \$27,951.00	\$1,311.10 \$25.94 \$16.83	\$41,168.54 \$187,157.10 \$42,765.03	\$1,800.00 \$38.00 \$17.00	\$56,520.00 \$274,170.00 \$43,197.00	\$1,310.00 \$32.90 \$11.50	\$41,134.0 \$237,373.5 \$29,221.5
30 31 32	TXDOT 0420-6029 TXDOT 0420-6037 TXDOT 0422-6001 TXDOT 0422-6013 TXDOT 0422-6015	CL C Conc (CAP) CL C Conc (COLUMN) Reinf Conc Slab	CY SF	31.40 7,215.00	\$1,728.00 \$37.80	\$54,259.20 \$272,727.00	\$2,500.00	\$78,500.00 \$216,450.00	\$1,311.10 \$25.94	\$41,168.54 \$187,157.10	\$1,800.00 \$38.00	\$56,520.00 \$274,170.00	\$1,310.00 \$32.90	\$56,832.0 \$41,134.0 \$237,373.5 \$29,221.5 \$62,092.1
30 31 32 33	TXDOT 0420-6029 TXDOT 0420-6037 TXDOT 0422-6001 TXDOT 0422-6013 TXDOT	CL C Conc (CAP) CL C Conc (COLUMN) Reinf Conc Slab Bridge Sidewalk Approach Slab	CY SF SF	31.40 7,215.00 2,541.00	\$1,728.00 \$37.80 \$16.20	\$54,259.20 \$272,727.00 \$41,164.20	\$2,500.00 \$30.00 \$11.00	\$78,500.00 \$216,450.00 \$27,951.00	\$1,311.10 \$25.94 \$16.83	\$41,168.54 \$187,157.10 \$42,765.03	\$1,800.00 \$38.00 \$17.00	\$56,520.00 \$274,170.00 \$43,197.00	\$1,310.00 \$32.90 \$11.50	\$41,134. \$237,373. \$29,221.

					Allgood Constru	action Co., Inc.	R Construction	on Civil, LLC.	James Construc	tion Group, LLC.	Conrad Constru	ction Co., LTD	SER Constructio	n Partners, LLC.
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures	Price	Figures	Price	Figures
	TVDOT			1 1	ı	ı	ı						ı	1
36	TXDOT	Str Stool (Micc Non Bridge)	LB	145.00	\$32.40	\$4,698.00	¢50.00	\$7,250.00	\$24.06	\$3,488.70	\$35.00	\$5,075.00	\$22.00	\$4,640.00
36	0442-6007 TXDOT	Str Steel (Misc Non-Bridge)	LB	145.00	\$32.40	\$4,698.00	\$50.00	\$7,250.00	\$24.06	\$3,488.70	\$35.00	\$5,075.00	\$32.00	\$4,640.00
37	0450-6004	Rail (TY T221)	LF	254.10	\$157.68	\$40,066.49	\$150.00	\$38,115.00	\$97.79	\$24,848.44	\$165.00	\$41,926.50	\$217.00	\$55,139.70
- 37	TXDOT	Non (11 1221)		254.10	Ç137.00	Ş40,000.43	Ç130.00	ÿ30,113.00	Ş37.73	\$24,040.44	Ģ105.00	Ş+1,520.50	Ş217.00	Ç33,133.70
38	0450-6030	Rail (TY C221)	LF	223.00	\$210.60	\$46,963.80	\$225.00	\$50,175.00	\$157.13	\$35,039.99	\$220.00	\$49,060.00	\$285.00	\$63,555.00
	TXDOT					, ,,				, ,				, ,
39	0450-6103	Rail (TY PR11)	LF	223.00	\$169.56	\$37,811.88	\$160.00	\$35,680.00	\$187.66	\$41,848.18	\$175.00	\$39,025.00	\$154.00	\$34,342.00
	TXDOT	, ,												
40	0454-6001	Sealed Expansion Joint (4 IN) (SEJ - A)	LF	65.00	\$270.00	\$17,550.00	\$200.00	\$13,000.00	\$201.74	\$13,113.10	\$285.00	\$18,525.00	\$195.00	\$12,675.00
	TXDOT													
41	0420-6011	CL B Conc (Flume)	CY	65.00	\$756.00	\$49,140.00	\$600.00	\$39,000.00	\$891.59	\$57,953.35	\$790.00	\$51,350.00	\$539.00	\$35,035.00
	TXDOT													
42	0423-6001	Retaining Wall (MSE)	SF	2,325.00	\$129.60	\$301,320.00	\$110.00	\$255,750.00	\$64.93	\$150,962.25	\$136.00	\$316,200.00	\$89.00	\$206,925.00
	TXDOT		CY		4=== 0	4	4=== ==	400 000 00	400044	4	4000.00	44.00.000.00	4====	400 000 00
43	0432-6008 TXDOT	Riprap (Conc)(CL B)(RR8&RR9)(5")	LY	175.00	\$756.00	\$132,300.00	\$550.00	\$96,250.00	\$636.11	\$111,319.25	\$800.00	\$140,000.00	\$535.00	\$93,625.00
44	0556-6006	Pipe Underdrain (TY 6) (6")	LF	278.00	\$59.40	\$16,513.20	\$75.00	\$20,850.00	\$51.65	\$14,358.70	\$65.00	\$18,070.00	\$65.00	\$18,070.00
44	TXDOT	ripe onderdrain (11 o) (o)	LI	278.00	ÇJ9.40	\$10,515.20	\$75.00	320,830.00	\$31.03	714,336.70	Ç03.00	\$18,070.00	Ç03.00	\$18,070.00
45	0544-6001	Guardrail End Treatment (Install)	EA	4.00	\$2,940.00	\$11,760.00	\$2,700.00	\$10,800.00	\$3,340.00	\$13,360.00	\$2,775.00	\$11,100.00	\$3,400.00	\$13,600.00
SUBOTAL BRIDGE A			L/ (ψ2,3 10.00	\$2,099,002.13	<i>\$2,700.00</i>	\$1,805,725.50	\$5,5 10.00	\$1,509,683.06	ŲL,775.00	\$2,186,608.50	<i>\$3</i> , 100.00	\$1,584,493.80
						, , ,		. ,,		. ,,		. , ,		, , ,
D. Storm Sewer Ite	ms													
46	429	Trench Safety System (5' to 10')	LF	7,739.00	\$1.20	\$9,286.80	\$1.00	\$7,739.00	\$2.70	\$20,895.30	\$2.00	\$15,478.00	\$0.30	\$2,321.70
47	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (18")	LF	269.00	\$67.55	\$18,170.95	\$115.00	\$30,935.00	\$113.00	\$30,397.00	\$130.00	\$34,970.00	\$113.00	\$30,397.00
48	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24")	LF	3,141.00	\$97.80	\$307,189.80	\$135.00	\$424,035.00	\$156.77	\$492,414.57	\$150.00	\$471,150.00	\$164.00	\$515,124.00
40	460	Delicition of Community Plans CTC Class III Delicition Control (2011)	LF	407.00	6424.67	ć50 740 CO	ć220.00	Ć00 F40 00	6464.00	665.064.04	ć400.00	677 220 00	6277.00	6442 720 00
49	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (30")	LF	407.00	\$124.67	\$50,740.69	\$220.00	\$89,540.00	\$161.83	\$65,864.81	\$190.00	\$77,330.00	\$277.00	\$112,739.00
50	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (36")	LF	1,680.00	\$171.35	\$287,868.00	\$230.00	\$386,400.00	\$246.48	\$414,086.40	\$240.00	\$403,200.00	\$285.00	\$478,800.00
30	460	Reillorced Coliciete Pipe, C76, Class III, Rubber Gasket (56.)	LF	1,080.00	\$1/1.55	\$207,000.00	\$230.00	\$360,400.00	\$240.46	3414,060.40	\$240.00	3403,200.00	\$265.00	\$476,600.00
51	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (48")	LF	1.617.00	\$291.23	\$470,918.91	\$488.00	\$789.096.00	\$402.90	\$651,489,30	\$325.00	\$525,525.00	\$521.00	\$842,457.00
52	471	Precast Concrete Standard Manhole (5 ft ≤ Depth ≤ 10 ft)	EA	18.00	\$10,230.00	\$184,140.00	\$12,000.00	\$216,000.00	\$12,145.97	\$218,627.46	\$13,250.00	\$238,500.00	\$10,100.00	\$181,800.00
53	471	Junction box (8'x5')	EA	1.00	\$12,960.00	\$12,960.00	\$15,000.00	\$15,000.00	\$18,430.54	\$18,430.54	\$16,750.00	\$16,750.00	\$15,800.00	\$15,800.00
54	472	Type A Inlet	EA	32.00	\$4,020.00	\$128,640.00	\$2,800.00	\$89,600.00	\$4.064.21	\$130,054,72	\$4,100.00	\$131,200.00	\$4,640,00	\$148,480.00
55	472	Type A-Mod Inlet	EA	3.00	\$6,000.00	\$18,000.00	\$6,300.00	\$18,900.00	\$3,827.45	\$11,482.35	\$5,800.00	\$17,400.00	\$4,200.00	\$12,600.00
56	472	Type C Inlet	EA	19.00	\$4,200.00	\$79,800.00	\$4,200.00	\$79,800.00	\$5,802.94	\$110,255.86	\$4,700.00	\$89,300.00	\$5,300.00	\$100,700.00
57	472	Type C-Mod Inlet	EA	3.00	\$6,000.00	\$18,000.00	\$6,500.00	\$19,500.00	\$9,389.80	\$28,169.40	\$9,000.00	\$27,000.00	\$6,250.00	\$18,750.00
58	480	5'x4' RCBC	LF	220.00	\$590.75	\$129,965.00	\$610.00	\$134,200.00	\$654.94	\$144,086.80	\$650.00	\$143,000.00	\$608.00	\$133,760.00
59	480	6'x3' RCBC	LF	146.00	\$651.12	\$95,063.52	\$730.00	\$106,580.00	\$729.92	\$106,568.32	\$750.00	\$109,500.00	\$684.00	\$99,864.00
60	480	6'x4' RCBC	LF	52.00	\$704.94	\$36,656.88	\$900.00	\$46,800.00	\$790.17	\$41,088.84	\$1,100.00	\$57,200.00	\$806.00	\$41,912.00
61	480	10'x8' RCBC	LF	207.00	\$1,601.59	\$331,529.13	\$1,950.00	\$403,650.00	\$1,894.80	\$392,223.60	\$1,600.00	\$331,200.00	\$1,760.00	\$364,320.00
62	TxDOT	CLA CONC (CHANNEL LINING)	CV	22.00	¢000.00	¢20 000 00	¢000.00	¢2F C00 00	6760.30	624 646 06	¢2 000 00	¢64 000 00	¢536.00	617 153 00
02	0420-6133 TxDOT	CL A CONC (CHANNEL LINING) Conc Headwalls w/flared wings 15 Deg skew pine culvert (CH-	CY	32.00	\$900.00	\$28,800.00	\$800.00	\$25,600.00	\$769.28	\$24,616.96	\$2,000.00	\$64,000.00	\$536.00	\$17,152.00
63	0466-6018	Conc Headwalls w/flared wings 15 Deg skew pipe culvert (CH- FW-15) (DIA=18 IN)	EA	1.00	\$8,880.00	\$8,880.00	\$6,000.00	\$6,000.00	\$20,638.58	\$20,638.58	\$10,500.00	\$10,500.00	\$8,200.00	\$8,200.00
- 03	TxDOT	Conc Headwalls w/flared wings box culverts (FW-0) (6'X3' RCB)	LA	1.00	70,000.00	00.000.00	30,000.00	30,000.00	J20,036.36	J20,036.36	\$10,500.00	¥10,500.00	70,200.00	90,200.00
64	0466-6151	(Hw=4)	EA	1.00	\$11,520.00	\$11,520.00	\$20,000.00	\$20,000.00	\$24,738.22	\$24,738.22	\$15,000.00	\$15,000.00	\$50,000.00	\$50,000.00
Ţ.	TxDOT	Conc Headwalls w/flared wings for skewed box culverts (FW-S)		1.50	+==,520.00	+==,520.00	+=5,000.00	+=3,000.00	1,7 55.22	1,7 55.22	+=5,000.00	+==,000.00	+= 5,000.00	+==,000.00
65	0466-6170	(10'X8' RCB)(Hw=9)	EA	1.00	\$66,240.00	\$66,240.00	\$40,000.00	\$40,000.00	\$70,934.66	\$70,934.66	\$45,000.00	\$45,000.00	\$57,000.00	\$57,000.00
	TxDOT	Conc Headwalls w/parllel wings box culverts (PW-1) (6'X3' RCB)												
66	0466-6179	(Hw=4)	EA	1.00	\$15,480.00	\$15,480.00	\$40,000.00	\$40,000.00	\$23,259.41	\$23,259.41	\$17,000.00	\$17,000.00	\$32,000.00	\$32,000.00
	TxDOT	Conc Headwalls w/Parallel wings box culverts (PW-2) (10'X8'												
67	0466-6198	RCB) (Hw=9)	EA	1.00	\$71,400.00	\$71,400.00	\$100,000.00	\$100,000.00	\$100,707.96	\$100,707.96	\$47,000.00	\$47,000.00	\$109,000.00	\$109,000.00
	TxDOT	Conc Headwalls w/straight wings box culverts (SW-0) (6'X4'						_					 	
68	0466-6208	RCB) (Hw=5)	EA	2.00	\$8,040.00	\$16,080.00	\$15,000.00	\$30,000.00	\$22,542.14	\$45,084.28	\$21,000.00	\$42,000.00	\$10,400.00	\$20,800.00
	TXDOT	6		l	44.000	44.005	40.005	40.00	40.00	40.405 ==	44.000	4= 404	44 = 46	40.000
69	0467-6363	safety End Treatment (TY II) (18 in) (RCP) (6:1) (P)	EA	4.00	\$1,200.00	\$4,800.00	\$2,000.00	\$8,000.00	\$2,281.68	\$9,126.72	\$1,900.00	\$7,600.00	\$1,740.00	\$6,960.00

					Allgood Constru	ction Co., Inc.	R Construction	on Civil, LLC.	James Construct	tion Group, LLC.	Conrad Constru	ction Co., LTD	SER Constructio	n Partners, LLC.
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures	Price	Figures	Price	Figures
	1			1					1					
	TXDOT				4									
70	0467-6389	safety End Treatment (TY II) (24 in) (RCP) (3:1) (P)	EA	2.00	\$1,800.00	\$3,600.00	\$2,000.00	\$4,000.00	\$2,334.95	\$4,669.90	\$2,100.00	\$4,200.00	\$2,050.00	\$4,100.00
71	TXDOT	(-) (-) (-) (-) (-) (-) (-) (-) (-) (EA	4.00	\$2.160.00	\$8.640.00	\$2.000.00	\$8,000,00	\$2.998.61	\$11.994.44	\$2,000.00	\$8.000.00	\$2,430,00	ć0 720 00
/1	0467-6395 TXDOT	safety End Treatment (TY II) (24 in) (RCP) (6:1) (P)	EA	4.00	\$2,160.00	\$8,640.00	\$2,000.00	\$8,000.00	\$2,998.61	\$11,994.44	\$2,000.00	\$8,000.00	\$2,430.00	\$9,720.00
72	0467-6449	safety End Treatment (TY II) (36 in) (RCP) (3:1) (P)	EA	13.00	\$6,600,00	\$85.800.00	\$3,200,00	\$41,600.00	\$8.351.53	\$108.569.89	\$3,400.00	\$44.200.00	\$6,700.00	\$87.100.00
SUBTOTAL STORM		salety that freatment (11 ii) (50 iii) (Nor) (5.1) (F)	LA	13.00	30,000.00	\$2.500.169.68	\$3,200.00	\$3.180.975.00	30,331.33	\$3.320.476.29	\$3,400.00	\$2.993.203.00	30,700.00	\$3,501,856.70
JODIO IAL JIONIN	1 JEWEIT ITEMS					72,300,103.00		73,100,373.00		43,320,470.2 3		72,333,203.00		73,301,030.70
E. Erosion Protecti	ion Items													
73	HCFCD 03310	Reinforced Concrete Slope Paving (5")	SY	480.00	\$108.00	\$51,840.00	\$95.00	\$45,600.00	\$70.04	\$33,619.20	\$105.00	\$50,400.00	\$100.00	\$48,000.00
74		Riprap (Gradation No. 2) (18")	SY	980.00	\$96.00	\$94,080.00	\$122.00	\$119,560.00	\$87.10	\$85,358.00	\$110.00	\$107,800.00	\$130.00	\$127,400.00
SUBTOTAL EROSIO	ON PROTECTION	ITEMS				\$145,920.00		\$165,160.00		\$118,977.20		\$158,200.00		\$175,400.00
F. Traffic Control P	Plan	Work Zone Pavement Markings 4" White/Solid (Removable)		1		-			ı				1	
75	665	Furnished -Applied & Removed	LF	1.600.00	\$0.96	\$1,536.00	\$1.50	\$2,400.00	\$0.80	\$1.280.00	\$4.00	\$6,400.00	\$2.60	\$4.160.00
/5	005	Work Zone Pavement Markings 4" Yellow/Solid (Removable)	LF	1,600.00	\$0.96	\$1,536.00	\$1.50	\$2,400.00	\$0.80	\$1,280.00	\$4.00	\$6,400.00	\$2.00	\$4,160.00
76	665	Furnished-Applied & Removed	LF	1,600.00	\$1.02	\$1,632.00	\$1.50	\$2,400.00	\$0.85	\$1,360.00	\$4.00	\$6,400.00	\$2.60	\$4,160.00
,,,	003	Turnished replied a nemoted		1,000.00	Ų1.0L	Ų1,002.00	\$1.50	ψ <u>2</u> , 100.00	Ç0.05	\$1,500.00	ŷ 1.00	\$0,100.00	ψ <u>2</u> .00	ŷ 1,1200.00
77	671	Traffic Control - Barricades, Barriers, Barrels, Cones, and Signing	МО	7.00	\$2,100,00	\$14,700.00	\$9,500,00	\$66,500,00	\$12,404,34	\$86.830.38	\$22,500.00	\$157.500.00	\$8,300,00	\$58,100.00
						, ,	, . ,	, ,	, ,	, ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,	, -,	, ,
78	671	Temporary Residential Driveways - Furnish-Install & Remove	EA	10.00	\$1,800.00	\$18,000.00	\$1,400.00	\$14,000.00	\$5,253.64	\$52,536.40	\$950.00	\$9,500.00	\$600.00	\$6,000.00
79	673	Temporary Asphalt Paving	SY	430.00	\$90.00	\$38,700.00	\$105.00	\$45,150.00	\$148.29	\$63,764.70	\$60.00	\$25,800.00	\$94.00	\$40,420.00
SUBTOTAL TRAFFIC	C CONTROL PLA	NN .				\$74,568.00		\$130,450.00		\$205,771.48		\$205,600.00		\$112,840.00
G. Signing and Pav	rement Marking													
80				76.00	6744.00	65436400	ć000 00	ćc0 400 00	ć505.00	Ć4F 220 00	6700.00	ć52 200 00	64.440.00	ć0C C40 00
	02-7	Aluminum Signs (Ground Mounted)- Furnish & Install	EA	76.00	\$714.00	\$54,264.00	\$900.00	\$68,400.00	\$595.00	\$45,220.00	\$700.00	\$53,200.00	\$1,140.00	\$86,640.00
81		Reflectorized Pavement Markings Type I (Thermoplastic) White												
81	660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied	EA EA	76.00 162.00	\$714.00 \$27.00	\$54,264.00 \$4,374.00	\$900.00 \$45.00	\$68,400.00 \$7,290.00	\$595.00 \$22.50	\$45,220.00 \$3,645.00	\$700.00 \$285.00	\$53,200.00 \$46,170.00	\$1,140.00 \$42.70	\$86,640.00 \$6,917.40
	660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24"	EA	162.00	\$27.00	\$4,374.00	\$45.00	\$7,290.00	\$22.50	\$3,645.00	\$285.00	\$46,170.00	\$42.70	\$6,917.40
81 82		Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied												
	660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied	EA	162.00	\$27.00	\$4,374.00	\$45.00	\$7,290.00	\$22.50	\$3,645.00	\$285.00	\$46,170.00	\$42.70	\$6,917.40
82	660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4"	EA LF	162.00 435.00	\$27.00 \$7.56	\$4,374.00 \$3,288.60	\$45.00 \$8.00	\$7,290.00 \$3,480.00	\$22.50 \$6.30	\$3,645.00 \$2,740.50	\$285.00 \$14.00	\$46,170.00	\$42.70 \$10.30	\$6,917.40 \$4,480.50
82	660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	EA LF	162.00 435.00	\$27.00 \$7.56	\$4,374.00 \$3,288.60	\$45.00 \$8.00	\$7,290.00 \$3,480.00	\$22.50 \$6.30	\$3,645.00 \$2,740.50	\$285.00 \$14.00	\$46,170.00	\$42.70 \$10.30	\$6,917.40 \$4,480.50
82 83 84	660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24"	EA LF LF	162.00 435.00 10,168.00 337.00	\$27.00 \$7.56 \$0.60 \$2.40	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80	\$45.00 \$8.00 \$1.00 \$2.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00	\$22.50 \$6.30 \$0.50 \$2.00	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00	\$285.00 \$14.00 \$2.75 \$8.00	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00	\$42.70 \$10.30 \$1.10 \$2.90	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30
82 83	660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied	EA LF LF	162.00 435.00 10,168.00	\$27.00 \$7.56 \$0.60	\$4,374.00 \$3,288.60 \$6,100.80	\$45.00 \$8.00 \$1.00	\$7,290.00 \$3,480.00 \$10,168.00	\$22.50 \$6.30 \$0.50	\$3,645.00 \$2,740.50 \$5,084.00	\$285.00 \$14.00 \$2.75	\$46,170.00 \$6,090.00 \$27,962.00	\$42.70 \$10.30 \$1.10	\$6,917.40 \$4,480.50 \$11,184.80
82 83 84 85	660 660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12"	EA LF LF LF	162.00 435.00 10,168.00 337.00 475.00	\$27.00 \$7.56 \$0.60 \$2.40 \$7.56	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80 \$3,591.00	\$45.00 \$8.00 \$1.00 \$2.00 \$8.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00 \$3,800.00	\$22.50 \$6.30 \$0.50 \$2.00 \$6.30	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00 \$2,992.50	\$285.00 \$14.00 \$2.75 \$8.00 \$14.00	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00 \$6,650.00	\$42.70 \$10.30 \$1.10 \$2.90 \$10.30	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30 \$4,892.50
82 83 84	660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied	EA LF LF	162.00 435.00 10,168.00 337.00	\$27.00 \$7.56 \$0.60 \$2.40	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80	\$45.00 \$8.00 \$1.00 \$2.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00	\$22.50 \$6.30 \$0.50 \$2.00	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00	\$285.00 \$14.00 \$2.75 \$8.00	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00	\$42.70 \$10.30 \$1.10 \$2.90	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30
82 83 84 85 86	660 660 660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4"	EA LF LF LF LF LF	162.00 435.00 10,168.00 337.00 475.00 300.00	\$27.00 \$7.56 \$0.60 \$2.40 \$7.56 \$3.60	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80 \$3,591.00 \$1,080.00	\$45.00 \$8.00 \$1.00 \$2.00 \$8.00 \$4.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00 \$3,800.00	\$22.50 \$6.30 \$0.50 \$2.00 \$6.30 \$3.00	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00 \$2,992.50 \$900.00	\$285.00 \$14.00 \$2.75 \$8.00 \$14.00	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00 \$6,650.00 \$3,000.00	\$42.70 \$10.30 \$1.10 \$2.90 \$10.30 \$5.70	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30 \$4,892.50 \$1,710.00
82 83 84 85	660 660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied	EA LF LF LF	162.00 435.00 10,168.00 337.00 475.00	\$27.00 \$7.56 \$0.60 \$2.40 \$7.56	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80 \$3,591.00	\$45.00 \$8.00 \$1.00 \$2.00 \$8.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00 \$3,800.00	\$22.50 \$6.30 \$0.50 \$2.00 \$6.30	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00 \$2,992.50	\$285.00 \$14.00 \$2.75 \$8.00 \$14.00	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00 \$6,650.00	\$42.70 \$10.30 \$1.10 \$2.90 \$10.30	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30 \$4,892.50
82 83 84 85 86 87	660 660 660 660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Reflectorized Pavement Markings Type I (Thermoplastic) 4"	EA LF LF LF LF LF	162.00 435.00 10,168.00 337.00 475.00 300.00	\$27.00 \$7.56 \$0.60 \$2.40 \$7.56 \$3.60 \$0.66	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80 \$3,591.00 \$1,080.00	\$45.00 \$8.00 \$1.00 \$2.00 \$8.00 \$4.00 \$1.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00 \$3,800.00 \$1,200.00	\$22.50 \$6.30 \$0.50 \$2.00 \$6.30 \$3.00 \$0.55	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00 \$2,992.50 \$900.00 \$841.50	\$285.00 \$14.00 \$2.75 \$8.00 \$14.00 \$10.00 \$2.50	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00 \$6,650.00 \$3,000.00	\$42.70 \$10.30 \$1.10 \$2.90 \$10.30 \$5.70 \$1.10	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30 \$4,892.50 \$1,710.00 \$1,683.00
82 83 84 85 86	660 660 660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doshed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doble/Solid - Furnish & Applied	EA LF LF LF LF LF	162.00 435.00 10,168.00 337.00 475.00 300.00	\$27.00 \$7.56 \$0.60 \$2.40 \$7.56 \$3.60	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80 \$3,591.00 \$1,080.00	\$45.00 \$8.00 \$1.00 \$2.00 \$8.00 \$4.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00 \$3,800.00	\$22.50 \$6.30 \$0.50 \$2.00 \$6.30 \$3.00	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00 \$2,992.50 \$900.00	\$285.00 \$14.00 \$2.75 \$8.00 \$14.00	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00 \$6,650.00 \$3,000.00	\$42.70 \$10.30 \$1.10 \$2.90 \$10.30 \$5.70	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30 \$4,892.50 \$1,710.00
82 83 84 85 86 87	660 660 660 660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Reflectorized Pavement Markings Type I (Thermoplastic) 4"	EA LF LF LF LF LF	162.00 435.00 10,168.00 337.00 475.00 300.00	\$27.00 \$7.56 \$0.60 \$2.40 \$7.56 \$3.60 \$0.66	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80 \$3,591.00 \$1,080.00	\$45.00 \$8.00 \$1.00 \$2.00 \$8.00 \$4.00 \$1.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00 \$3,800.00 \$1,200.00	\$22.50 \$6.30 \$0.50 \$2.00 \$6.30 \$3.00 \$0.55	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00 \$2,992.50 \$900.00 \$841.50	\$285.00 \$14.00 \$2.75 \$8.00 \$14.00 \$10.00 \$2.50	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00 \$6,650.00 \$3,000.00	\$42.70 \$10.30 \$1.10 \$2.90 \$10.30 \$5.70 \$1.10	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30 \$4,892.50 \$1,710.00 \$1,683.00
82 83 84 85 86 87	660 660 660 660 660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doshed/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doshed/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4"	EA LF LF LF LF LF LF	162.00 435.00 10,168.00 337.00 475.00 300.00 1,530.00	\$27.00 \$7.56 \$0.60 \$2.40 \$7.56 \$3.60 \$0.66	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80 \$3,591.00 \$1,080.00 \$1,009.80 \$1,071.00	\$45.00 \$8.00 \$1.00 \$2.00 \$4.00 \$1.00 \$2.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00 \$3,800.00 \$1,200.00 \$1,530.00	\$22.50 \$6.30 \$0.50 \$2.00 \$6.30 \$3.00 \$0.55	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00 \$2,992.50 \$900.00 \$841.50	\$285.00 \$14.00 \$2.75 \$8.00 \$14.00 \$10.00 \$2.50	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00 \$3,000.00 \$3,825.00 \$2,625.00	\$42.70 \$10.30 \$1.10 \$2.90 \$10.30 \$5.70 \$1.10	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30 \$4,892.50 \$1,710.00 \$1,683.00 \$2,415.00
82 83 84 85 86 87	660 660 660 660 660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doshed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doshed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doshed - Furnish & Applied	EA LF LF LF LF LF LF	162.00 435.00 10,168.00 337.00 475.00 300.00 1,530.00	\$27.00 \$7.56 \$0.60 \$2.40 \$7.56 \$3.60 \$0.66	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80 \$3,591.00 \$1,080.00 \$1,009.80 \$1,071.00	\$45.00 \$8.00 \$1.00 \$2.00 \$4.00 \$1.00 \$2.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00 \$3,800.00 \$1,200.00 \$1,530.00	\$22.50 \$6.30 \$0.50 \$2.00 \$6.30 \$3.00 \$0.55	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00 \$2,992.50 \$900.00 \$841.50	\$285.00 \$14.00 \$2.75 \$8.00 \$14.00 \$10.00 \$2.50	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00 \$3,000.00 \$3,825.00 \$2,625.00	\$42.70 \$10.30 \$1.10 \$2.90 \$10.30 \$5.70 \$1.10	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30 \$4,892.50 \$1,710.00 \$1,683.00 \$2,415.00
82 83 84 85 86 87 88	660 660 660 660 660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doble/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doble/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) (W) Word "ONLY" - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) (W) Single Arrow-LEFT - Furnish & Applied	EA LF LF LF LF LF LF LF LF LF	162.00 435.00 10,168.00 337.00 475.00 300.00 1,530.00 2.00	\$27.00 \$7.56 \$0.60 \$2.40 \$7.56 \$3.60 \$0.66 \$1.02	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80 \$3,591.00 \$1,080.00 \$1,009.80 \$1,071.00 \$480.00	\$45.00 \$8.00 \$1.00 \$2.00 \$8.00 \$4.00 \$1.00 \$2.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00 \$3,800.00 \$1,200.00 \$2,100.00	\$22.50 \$6.30 \$0.50 \$2.00 \$6.30 \$3.00 \$0.55 \$0.85	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00 \$2,992.50 \$900.00 \$841.50 \$892.50	\$285.00 \$14.00 \$2.75 \$8.00 \$14.00 \$10.00 \$2.50 \$2.50 \$300.00	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00 \$6,650.00 \$3,000.00 \$2,625.00 \$2,625.00	\$42.70 \$10.30 \$1.10 \$2.90 \$10.30 \$5.70 \$1.10 \$2.30	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30 \$4,892.50 \$1,710.00 \$1,683.00 \$2,415.00 \$514.00
82 83 84 85 86 87 88 89	660 660 660 660 660 660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doble/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) (W) Word "ONLY" - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-LEFT - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic)(W)	EA LF LF LF LF LF EA EA	162.00 435.00 10,168.00 337.00 475.00 300.00 1,530.00 2.00 6.00	\$27.00 \$7.56 \$0.60 \$2.40 \$7.56 \$3.60 \$0.66 \$1.02 \$240.00 \$192.00	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80 \$3,591.00 \$1,080.00 \$1,071.00 \$480.00 \$1,152.00	\$45.00 \$8.00 \$1.00 \$2.00 \$4.00 \$1.00 \$350.00 \$300.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00 \$3,800.00 \$1,200.00 \$2,100.00 \$700.00	\$22.50 \$6.30 \$0.50 \$2.00 \$3.00 \$0.55 \$0.85 \$200.00 \$160.00	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00 \$2,992.50 \$900.00 \$841.50 \$400.00 \$960.00	\$285.00 \$14.00 \$2.75 \$8.00 \$14.00 \$10.00 \$2.50 \$300.00 \$300.00	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00 \$3,000.00 \$3,825.00 \$2,625.00 \$600.00	\$42.70 \$10.30 \$1.10 \$2.90 \$10.30 \$5.70 \$1.10 \$2.30 \$257.00 \$234.00	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30 \$4,892.50 \$1,710.00 \$1,683.00 \$2,415.00 \$1,404.00
82 83 84 85 86 87 88	660 660 660 660 660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doble/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doble/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) (W) Word "ONLY" - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) (W) Single Arrow-LEFT - Furnish & Applied	EA LF LF LF LF LF LF LF LF LF	162.00 435.00 10,168.00 337.00 475.00 300.00 1,530.00 2.00	\$27.00 \$7.56 \$0.60 \$2.40 \$7.56 \$3.60 \$0.66 \$1.02	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80 \$3,591.00 \$1,080.00 \$1,009.80 \$1,071.00 \$480.00	\$45.00 \$8.00 \$1.00 \$2.00 \$8.00 \$4.00 \$1.00 \$2.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00 \$3,800.00 \$1,200.00 \$2,100.00	\$22.50 \$6.30 \$0.50 \$2.00 \$6.30 \$3.00 \$0.55 \$0.85	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00 \$2,992.50 \$900.00 \$841.50 \$892.50	\$285.00 \$14.00 \$2.75 \$8.00 \$14.00 \$10.00 \$2.50 \$2.50 \$300.00	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00 \$6,650.00 \$3,000.00 \$2,625.00 \$2,625.00	\$42.70 \$10.30 \$1.10 \$2.90 \$10.30 \$5.70 \$1.10 \$2.30	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30 \$4,892.50 \$1,710.00 \$1,683.00 \$2,415.00 \$514.00
82 83 84 85 86 87 88 89	660 660 660 660 660 660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doble/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) (W) Word "ONLY" - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) (W) Single Arrow-LEFT - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-LEFT - Furnish & Applied	EA LF LF LF LF LF EA EA	162.00 435.00 10,168.00 337.00 475.00 300.00 1,530.00 2.00 6.00	\$27.00 \$7.56 \$0.60 \$2.40 \$7.56 \$3.60 \$0.66 \$1.02 \$240.00 \$192.00	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80 \$3,591.00 \$1,080.00 \$1,071.00 \$480.00 \$1,152.00	\$45.00 \$8.00 \$1.00 \$2.00 \$4.00 \$1.00 \$350.00 \$300.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00 \$3,800.00 \$1,200.00 \$2,100.00 \$700.00	\$22.50 \$6.30 \$0.50 \$2.00 \$3.00 \$0.55 \$0.85 \$200.00 \$160.00	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00 \$2,992.50 \$900.00 \$841.50 \$400.00 \$960.00	\$285.00 \$14.00 \$2.75 \$8.00 \$14.00 \$10.00 \$2.50 \$300.00 \$300.00	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00 \$3,000.00 \$3,825.00 \$2,625.00 \$600.00	\$42.70 \$10.30 \$1.10 \$2.90 \$10.30 \$5.70 \$1.10 \$2.30 \$257.00 \$234.00	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30 \$4,892.50 \$1,710.00 \$1,683.00 \$2,415.00 \$1,404.00
82 83 84 85 86 87 88 89 90	660 660 660 660 660 660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doble/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) (W) Word "ONLY" - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-LEFT - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-RIGHT - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-RIGHT - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-RIGHT - Furnish & Applied	EA LF LF LF LF LF EA EA	162.00 435.00 10,168.00 337.00 475.00 300.00 1,530.00 2.00 6.00	\$27.00 \$7.56 \$0.60 \$2.40 \$7.56 \$3.60 \$0.66 \$1.02 \$240.00 \$192.00	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80 \$3,591.00 \$1,080.00 \$1,071.00 \$480.00 \$1,152.00	\$45.00 \$8.00 \$1.00 \$2.00 \$8.00 \$1.00 \$2.00 \$350.00 \$300.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00 \$3,800.00 \$1,200.00 \$2,100.00 \$1,800.00	\$22.50 \$6.30 \$0.50 \$2.00 \$6.30 \$0.55 \$0.85 \$200.00 \$160.00	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00 \$2,992.50 \$900.00 \$841.50 \$490.00 \$960.00	\$285.00 \$14.00 \$2.75 \$8.00 \$14.00 \$10.00 \$2.50 \$2.50 \$300.00 \$300.00	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00 \$3,000.00 \$3,825.00 \$2,625.00 \$600.00	\$42.70 \$10.30 \$1.10 \$2.90 \$10.30 \$5.70 \$1.10 \$2.30 \$257.00 \$234.00	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30 \$4,892.50 \$1,710.00 \$1,683.00 \$2,415.00 \$1,404.00
82 83 84 85 86 87 88 89 90	660 660 660 660 660 660 660 660	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doshed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doshed - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doshed-Solid - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic) (W) Word "ONLY" - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-LEFT - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-RIGHT - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-RIGHT - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-RIGHT - Furnish & Applied Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-RIGHT - Furnish & Applied	EA LF LF LF LF LF EA EA	162.00 435.00 10,168.00 337.00 475.00 300.00 1,530.00 2.00 6.00	\$27.00 \$7.56 \$0.60 \$2.40 \$7.56 \$3.60 \$0.66 \$1.02 \$240.00 \$192.00	\$4,374.00 \$3,288.60 \$6,100.80 \$808.80 \$3,591.00 \$1,080.00 \$1,071.00 \$480.00 \$1,152.00	\$45.00 \$8.00 \$1.00 \$2.00 \$8.00 \$1.00 \$2.00 \$350.00 \$300.00	\$7,290.00 \$3,480.00 \$10,168.00 \$674.00 \$3,800.00 \$1,200.00 \$2,100.00 \$1,800.00	\$22.50 \$6.30 \$0.50 \$2.00 \$6.30 \$0.55 \$0.85 \$200.00 \$160.00	\$3,645.00 \$2,740.50 \$5,084.00 \$674.00 \$2,992.50 \$900.00 \$841.50 \$490.00 \$960.00	\$285.00 \$14.00 \$2.75 \$8.00 \$14.00 \$10.00 \$2.50 \$2.50 \$300.00 \$300.00	\$46,170.00 \$6,090.00 \$27,962.00 \$2,696.00 \$3,000.00 \$3,825.00 \$2,625.00 \$600.00	\$42.70 \$10.30 \$1.10 \$2.90 \$10.30 \$5.70 \$1.10 \$2.30 \$257.00 \$234.00	\$6,917.40 \$4,480.50 \$11,184.80 \$977.30 \$4,892.50 \$1,710.00 \$1,683.00 \$2,415.00 \$1,404.00

					Allgood Constru	iction Co., Inc.	R Construction	on Civil. LLC.	James Construc	tion Group, LLC.	Conrad Constru	iction Co., LTD	SER Construction	n Partners. LLC.
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures	Price	Figures	Price	Figures
H. Traffic Signal It	ems													
	TXDOT				4000.00	4	4000.00	4	4000.00	4	4000.00	4	4000.00	44 000 00
94	0416-6030 TXDOT	DRILL SHAFT (TRF SIG POLE) (24 IN) (POLE 1)	LF	5.70	\$330.00	\$1,881.00	\$200.00	\$1,140.00	\$200.00	\$1,140.00	\$230.00	\$1,311.00	\$228.00	\$1,299.60
95	0416-6032	DRILL SHAFT (TRF SIG POLE) (36 IN) (POLE 3 & 4)	LF	28.40	\$420.00	\$11,928.00	\$350.00	\$9,940.00	\$350.00	\$9,940.00	\$400.00	\$11,360.00	\$399.00	\$11,331.60
96	TXDOT 0416-6034	DRILL SHAFT (TRF SIG POLE) (48 IN) (POLE 2)	LF	21.90	\$522.00	\$11,431.80	\$525.00	\$11,497.50	\$500.00	\$10,950.00	\$575.00	\$12,592.50	\$570.00	\$12,483.00
97	TXDOT 0618-6023	CONDT (PVC) (SCH 40) (2")	LF	175.00	\$14.22	\$2,488.50	\$9.00	\$1,575.00	\$8.00	\$1,400.00	\$10.00	\$1,750.00	\$9.10	\$1,592.50
98	TXDOT 0618-6024	CONDT (PVC) (SCH 40) (2") (BORE)	LF	175.00	\$18.00	\$3,150.00	\$9.00	\$1,575.00	\$8.00	\$1,400.00	\$10.00	\$1,750.00	\$9.10	\$1,592.50
99	TXDOT 0618-6029	CONDT (PVC) (SCH 40) (3")	LF	100.00	\$21.60	\$2,160.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$17.00	\$1,700.00	\$17.10	\$1,710.00
100	TXDOT 0618-6030	CONDT (PVC) (SCH 40) (3") (BORE)	LF	275.00	\$26.40	\$7,260.00	\$17.00	\$4,675.00	\$16.00	\$4,400.00	\$19.00	\$5,225.00	\$18.20	\$5,005.00
101	TXDOT 0618-6033	CONDT (PVC) (SCH 40) (4")	LF	200.00	\$31.20	\$6,240.00	\$18.00	\$3,600.00	\$17.00	\$3,400.00	\$20.00	\$4,000.00	\$19.40	\$3,880.00
102	TXDOT 0618-6034	CONDT (PVC) (SCH 40) (4") (BORE)	LF	100.00	\$34.80	\$3,480.00	\$22.00	\$2,200.00	\$22.00	\$2,200.00	\$25.00	\$2,500.00	\$25.10	\$2,510.00
103	TXDOT 0620-6002	2/C #14 (STRANDED) (MSA 20-1)	LF	350.00	\$1.80	\$630.00	\$1.80	\$630.00	\$1.70	\$595.00	\$2.00	\$700.00	\$1.90	\$665.00
104	TXDOT 0620-6002	4/C #14 (STRANDED) (MSA 20-1)	LF	350.00	\$2.58	\$903.00	\$2.00	\$700.00	\$2.00	\$700.00	\$3.00	\$1,050.00	\$2.30	\$805.00
105	TXDOT 0620-6002	7/C #14 (STRANDED) (MSA 20-1)	LF	1,350.00	\$3.18	\$4,293.00	\$3.50	\$4,725.00	\$3.30	\$4,455.00	\$4.00	\$5,400.00	\$3.80	\$5,130.00
106	TXDOT 0620-6007	1/C #8 BARE	LF	450.00	\$2.10	\$945.00	\$1.00	\$450.00	\$1.00	\$450.00	\$2.00	\$900.00	\$1.10	\$495.00
107	TXDOT 0620-6012	1/C #4 XHHW INSULATED	LF	75.00	\$3.60	\$270.00	\$5.00	\$375.00	\$5.00	\$375.00	\$6.00	\$450.00	\$5.70	\$427.50
108	TXDOT 0621-6005	4/C #12 AWG (TRAY CABLE)	LF	300.00	\$3.54	\$1,062.00	\$3.50	\$1,050.00	\$3.30	\$990.00	\$4.00	\$1,200.00	\$3.80	\$1,140.00
109	TXDOT 0624-6010	GROUND BOX TY D (162922)W/APRON	EA	3.00	\$1,710.00	\$5,130.00	\$1,300.00	\$3,900.00	\$1,250.00	\$3,750.00	\$1,500.00	\$4,500.00	\$1,425.00	\$4,275.00
110	TXDOT 0624-6021	GROUND BOX TY 2 (243636)W/APRON	EA	1.00	\$5,520.00	\$5,520.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00	\$9,100.00	\$9,100.00	\$9,120.00	\$9,120.00
111	TXDOT 0628-6189	ELC SRV TY D 120/240 070(NS)SS(E)SP(U)	EA	1.00	\$8,220.00	\$8,220.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,700.00	\$5,700.00	\$5,700.00	\$5,700.00
112	TXDOT 0680-6003	INSTALL HWY TRF SIG (SYSTEM)	EA	1.00	\$49,920.00	\$49,920.00	\$38,000.00	\$38,000.00	\$36,969.00	\$36,969.00	\$42,000.00	\$42,000.00	\$42,100.00	\$42,100.00
113	TXDOT 0682-6001	VEH SIG SEC (12")LED(GRN)	EA	6.00	\$360.00	\$2,160.00	\$320.00	\$1,920.00	\$310.00	\$1,860.00	\$350.00	\$2,100.00	\$353.00	\$2,118.00
114	TXDOT 0682-6002	VEH SIG SEC (12")LED(GRN ARW)	EA	1.00	\$360.00	\$360.00	\$320.00	\$320.00	\$310.00	\$310.00	\$350.00	\$350.00	\$353.00	\$353.00
115	TXDOT 0682-6003	VEH SIG SEC (12")LED(YEL)	EA	6.00	\$360.00	\$2,160.00	\$320.00	\$1,920.00	\$310.00	\$1,860.00	\$350.00	\$2,100.00	\$353.00	\$2,118.00
116	TXDOT 0682-6004	VEH SIG SEC (12")LED(YEL ARW)	EA	2.00	\$360.00	\$720.00	\$320.00	\$640.00	\$310.00	\$620.00	\$350.00	\$700.00	\$353.00	\$706.00
117	TXDOT 0682-6005	VEH SIG SEC (12")LED(RED)	EA	6.00	\$360.00	\$2,160.00	\$320.00	\$1,920.00	\$310.00	\$1,860.00	\$350.00	\$2,100.00	\$353.00	\$2,118.00
118	TXDOT 0682-6006	VEH SIG SEC (12")LED(RED ARW)	EA	1.00	\$360.00	\$360.00	\$320.00	\$320.00	\$310.00	\$310.00	\$350.00	\$350.00	\$353.00	\$353.00
119	TXDOT 0682-6018	PED SIG SEC (LED)(COUNTDOWN)	EA	2.00	\$870.00	\$1,740.00	\$750.00	\$1,500.00	\$700.00	\$1,400.00	\$800.00	\$1,600.00	\$798.00	\$1,596.00
120	TXDOT 0682-6054	BACKPLATE W/REF BRDR(3 SEC)(VENT)ALUM	EA	6.00	\$222.00	\$1,332.00	\$150.00	\$900.00	\$150.00	\$900.00	\$175.00	\$1,050.00	\$171.00	\$1,026.00
121	TXDOT 0682-6055	BACKPLATE W/REF BRDR(4 SEC)(VENT)ALUM	EA	1.00	\$252.00	\$252.00	\$250.00	\$250.00	\$225.00	\$225.00	\$255.00	\$255.00	\$257.00	\$257.00
122	TXDOT 0686-6034	INS TRF SIG PL AM(S)1 ARM(32')ILSN	EA	1.00	\$18,120.00	\$18,120.00	\$15,500.00	\$15,500.00	\$14,700.00	\$14,700.00	\$17,500.00	\$17,500.00	\$16,760.00	\$16,760.00
123	TXDOT 0686-6048	INS TRF SIG PL AM(S)1 ARM(44')LUM&ILSN	EA	1.00	\$22,080.00	\$22,080.00	\$19,000.00	\$19,000.00	\$17,800.00	\$17,800.00	\$21,000.00	\$21,000.00	\$20,300.00	\$20,300.00

				I	Allgood Constru	uction Co., Inc.	R Constructio	n Civil. LLC.	James Construct	tion Group, LLC.	Conrad Constr	uction Co., LTD	SER Construction	n Partners, LLC.
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures	Price	Figures	Price	Figures
	110.	bescription.	Wicasarc	quantity	Trice	rigures	11100	r igures	THEC	- igures	11100	rigures	11100	- igures
ĺ	TXDOT													
124	0686-6060	INS TRF SIG PL AM(S)1 ARM(55')LUM&ILSN	EA	1.00	\$40,200.00	\$40,200.00	\$32,000.00	\$32,000.00	\$31,700.00	\$31,700.00	\$37,000.00	\$37,000.00	\$36,140.00	\$36,140.00
	TXDOT				40.400.00	40.400.00	44 400 00	44 400 00	44 000 00	44 000 00	4	44 =00 00	44 400 00	44 400 00
125	0687-6001 TXDOT	PED POLE ASSEMBLY	EA	1.00	\$2,130.00	\$2,130.00	\$1,400.00	\$1,400.00	\$1,300.00	\$1,300.00	\$1,500.00	\$1,500.00	\$1,480.00	\$1,480.00
126	0687-6002	PEDESTRIAN PUSH BUTTON POLE	EA	2.00	\$852.00	\$1,704.00	\$600.00	\$1,200,00	\$600.00	\$1,200,00	\$700.00	\$1,400.00	\$684.00	\$1,368.00
120	TXDOT	PEDESTRIAIN POSH BUTTON POLE	EA	2.00	\$652.00	\$1,704.00	\$600.00	\$1,200.00	\$600.00	\$1,200.00	\$700.00	\$1,400.00	\$664.00	\$1,506.00
127	0688-6003	PED DETECTOR CONTROLLER UNIT	EA	1.00	\$5,118.00	\$5,118.00	\$3,200.00	\$3,200.00	\$3,200,00	\$3,200.00	\$3,700.00	\$3,700.00	\$3,648.00	\$3,648.00
12.7	TXDOT	TES SETECTOR CONTROLLER ONLY		1.00	ψ3,110.00	\$5,110.00	Ç5)200.00	\$3,200.00	\$3,200.00	\$3,200.00	\$5,700.00	\$3,700.00	Ç5,0 10.00	φ3,0 10.00
128	0690-6040	INSTALL OF CONTROL CABINET(GRND MNT)	EA	1.00	\$930.00	\$930.00	\$1,450.00	\$1,450.00	\$1,400.00	\$1,400.00	\$1,600.00	\$1,600.00	\$1,596.00	\$1,596.00
1	TXDOT													
129	0690-6137	VIVDS CABLE (INSTALL)	LF	550.00	\$1.38	\$759.00	\$5.00	\$2,750.00	\$5.00	\$2,750.00	\$6.00	\$3,300.00	\$5.70	\$3,135.00
1	TXDOT				_				_					
130	0690-6138	VIVDS CAMERA (INSTALL)	EA	3.00	\$600.00	\$1,800.00	\$4,700.00	\$14,100.00	\$4,500.00	\$13,500.00	\$5,100.00		\$5,130.00	\$15,390.00
SUBTOTAL TRAFFIC	SIGNAL ITEMS	S				\$230,997.30		\$201,822.50		\$194,509.00		\$226,093.50		\$221,723.70
I. Storm Water Poll	lution Proventi	ion Plan Itoms												
131	162	Sodding for Erosion Control (Various Widths)	SY	2.906.00	\$5.70	\$16.564.20	\$5.00	\$14.530.00	\$7.00	\$20.342.00	\$7.50	\$21,795.00	\$5.10	\$14,820.60
132	165	Hydro-Mulch Seeding	AC	12.74	\$3.120.00	\$39,748.80	\$1,500.00	\$19,110.00	\$2,500,00	\$31.850.00	\$2,300,00	\$29,302.00	\$1,710.00	\$21,785.40
		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			70/	400): 10100	7 - 7 - 7 - 7 - 7 - 7 - 7 - 7 - 7 - 7 -	7-07	7-,000.00	40-7000	7-700000	,	7-7:	+==,:
		Reinforced Filter Fabric Barrier (60% of unit cost for furnish and							4	4				
133	713	installation and 40% of unit cost for removal)	LF	2,805.00	\$2.10	\$5,890.50	\$2.00	\$5,610.00	\$3.00	\$8,415.00	\$5.00	\$14,025.00	\$2.90	\$8,134.50
1		Inlet Protection Barrier (Stage 1, With Fiber Rolls; 60% of unit												
134	719	cost for furnish and installation, and 40% of unit cost for removal)	EA	28.00	\$90.00	\$2.520.00	\$50.00	\$1,400,00	\$200.00	\$5.600.00	\$150.00	\$4.200.00	\$103.00	\$2.884.00
134	719	removar)	EA	28.00	\$90.00	\$2,520.00	\$50.00	\$1,400.00	\$200.00	\$5,000.00	\$150.00	\$4,200.00	\$103.00	\$2,884.00
1		Stabilized Construction Access (Type 1-Rock; 60% of unit cost												
135	724	for furnish and installation, and 40% of unit cost for removal))	SY	288.00	\$14.40	\$4,147.20	\$20.00	\$5,760.00	\$35.00	\$10.080.00	\$42.00	\$12.096.00	\$40.00	\$11,520.00
		Concrete Truck Washout Structures (60% of unit cost for furnish			7	¥ 1/= 11 = 0	7-0-0-0	40/	700.00	+==/=====	7	,,	7 10100	+==/=====
136	730	and installation, and 40% of unit cost for removal)	EA	2.00	\$960.00	\$1,920.00	\$500.00	\$1,000.00	\$2.000.00	\$4,000.00	\$1,600.00	\$3,200,00	\$1,331.00	\$2,662.00
100	750	Inlet Protection Barrier (For Stage II Inlets, Gravel Bags; 60% of	L/1	2.00	\$300.00	\$1,520.00	\$300.00	\$1,000.00	ψ2,000.00	ŷ 1,000.00	92,000.00	\$3,200.00	Ģ1 ,551.00	<i>\$2,002.00</i>
1		unit cost for furnish and installation, and 40% of unit cost												
137	741	removal)	EA	22.00	\$54.00	\$1,188.00	\$55.00	\$1,210.00	\$150.00	\$3,300.00	\$150.00	\$3,300.00	\$34.20	\$752.40
		Rock Filter Dam (Type 1; 60% of unit cost for furnish and												·
138	750	installation, and 40% of unit cost for removal)	LF	480.00	\$90.00	\$43,200.00	\$80.00	\$38,400.00	\$35.00	\$16,800.00	\$47.50	\$22,800.00	\$125.40	\$60,192.00
139	751	SWPPP Inspection and Maintenance	MO	8.00	\$7,200.00	\$57,600.00	\$2,000.00	\$16,000.00	\$6,000.00	\$48,000.00	\$6,000.00	\$48,000.00	\$808.70	\$6,469.60
SUBTOTAL STORM	WATER POLLUT	TION PREVENTION PLAN ITEMS				\$172,778.70		\$103,020.00		\$148,387.00		\$158,718.00		\$129,220.50
J. Extra Work Items		(C	CV.	420.00	404 001	\$10.080.00	éar aal	\$11.400.00	\$346.82	644.646.49	6400.00	\$12,000,00	6402.00	642 246 22
140 141	360 559	Concrete Pavement (8") (High Strength) Construction Safety Fence	SY LF	120.00 640.00	\$84.00 \$1.50	\$10,080.00	\$95.00 \$3.00	\$11,400.00	\$346.82 \$5.00	\$41,618.40 \$3.200.00	\$100.00 \$6.50	\$12,000.00 \$4.160.00	\$102.00 \$2.30	\$12,240.00
			HR	320.00	\$1.50 \$534.00	\$170,880.00	\$3.00	\$1,920.00	\$5.00 \$67.40	\$3,200.00	\$6.50 \$45.00	\$4,160.00	\$2.30	\$1,472.00 \$20,064.00
	672													
141	672	Off-Duty Uniformed Peace Office - As Directed by Engineer Well Point System(s), When Approved by Engineer, Complete in	пк	320.00	Ç334.00	ÿ170,000.00	703.00	+==,=====	7	7-1/000.00	7	φ11,100.00	Ç02.70	7-0,000
	672 TxDOT 400	Off-Duty Uniformed Peace Office - As Directed by Engineer Well Point System(s), When Approved by Engineer, Complete in Place	LF	2.000.00	\$1.20	\$2,400.00	\$20.00	\$40.000.00	\$25.00	\$50.000.00	\$30.00		\$20.00	\$40,000.00

	Allgood Construction Co., Inc.	R Construction Civil, LLC.	James Construction Group, LLC.	Conrad Construction Co., LTD	SER Construction Partners, LLC.
A. Site Preparation and Earthwork Items	\$1,041,294.80	\$1,228,336.00	\$1,362,746.56	\$1,674,237.00	\$2,610,871.40
B. Paving Items	\$2,382,689.50	\$2,340,574.00	\$2,503,536.32	\$2,438,482.20	\$2,318,392.50
C. Bridge and Retaining Wall Items	\$2,099,002.13	\$1,805,725.50	\$1,509,683.06	\$2,186,608.50	\$1,584,493.80
D. Storm Sewer Items	\$2,500,169.68	\$3,180,975.00	\$3,320,476.29	\$2,993,203.00	\$3,501,856.70
E. Erosion Protection Items	\$145,920.00	\$165,160.00	\$118,977.20	\$158,200.00	\$175,400.00
F. Traffic Control Plan	\$74,568.00	\$130,450.00	\$205,771.48	\$205,600.00	\$112,840.00
G. Signing and Pavement Markings Items	\$82,630.56	\$107,454.00	\$68,858.80	\$163,310.00	\$130,902.50
H. Traffic Signal Items	\$230,997.30	\$201,822.50	\$194,509.00	\$226,093.50	\$221,723.70
I. Storm Water Pollution Prevention Plan Items	\$172,778.70	\$103,020.00	\$148,387.00	\$158,718.00	\$129,220.50
J. Extra Work Items	\$184,320.00	\$74,120.00	\$116,386.40	\$90,560.00	\$73,776.00
TOTAL BID PRICE (SUM OF ITEMS A THROUGH J)	\$8,914,370.67	\$9,337,637.00	\$9,549,332.11	\$10,295,012.20	\$10,859,477.10

CERTIFICATE OF INTERESTED PARTIES

FORM **1295**

1 of 1

	Complete Nos. 1 - 4 and 6 if there are interested parties.		OFFICE USE ONLY						
	Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.		CERTIFICATION OF FILING						
1	Name of business entity filing form, and the city, state and country of the business entity's place of business.			Certificate Number: 2023-1011503					
	Allgood Construction Company, Inc.								
_	Richmond, TX United States		Date Filed: 04/25/2023						
2	Name of governmental entity or state agency that is a party to the being filed.	f governmental entity or state agency that is a party to the contract for which the form is led.							
	Fort Bend County		Date Acknowledged: 06/13/2023						
	Book do the state of the state				data a				
3	Provide the identification number used by the governmental entity or state agency to track or identify the contract, and provide a description of the services, goods, or other property to be provided under the contract.								
	B23-049	5 1							
	Construction of Brandt Road from Precinct Line Road to Maso	on Road							
4					Nature of interest				
	Name of Interested Party City, State, Country (place of b		business)	<u> </u>					
				Controlling	Intermediary				
					ı				
5	Check only if there is NO Interested Party.								
6	UNSWORN DECLARATION								
	My name is	, and my date of birth is							
	My address is		_,	_,					
	(street)	(city)	(state)	(zip code)	(country)				
	I declare under penalty of perjury that the foregoing is true and correct	t.							
	Executed inCounty	/, State of, c	on the	_day of	, 20				
				(month)					
		Signature of authorized agent	of contracti	ing business entity					
	(Declarant)								